EREAB

T (EEI511/3/7 :ERKR (11A6~11A0BERS)
2017/10/31_ ~
Wrie7al
=] UGB THFITD
% % wE
#.18.800. £ B:19.100
#:17.600. 1 H:18.000
#.17.600. £ B:18.000
R GTR) 3| #:17.600. 1 H:18.000




EEEAR

2017/10/31

THEZIE11/3/71EEXR (11 A3~4BBES)

=40]

B (PED) =ALIE BT F | BHE (P& R

547

(7

homs (7

E547]

ERE

.800

.800

.800

.800

.800

ALIR G FiR) 5

.800

.800

.800

.800

.800

JAL



EEEAR

2017/10/31

MEERI5(1/3/7EEXR(11A23BBES)

=40]

BERE (P E) =ALIE (B T B &2 () %

547

(7

B

0 e

EEE
35.800

35.800

35.800

35.800

35.800

ALIR G FiR) 5

35.800

35.800

35.800

35.800

35.800

JAL



MEERSI21 1 EER(11A21~22BEFES)

EEEAR ;- 2017/10/31 ~

T1/21-22
) &4 REIIE
mg | L0
| BHR | e
R CRE) =R Il RECPE)H | _JL551 4.200 68%
JL553 2400 | 67%
JL555 Bl 700 | 65%
JL567 Bl .700 51%
JENIES JL552 Bl .800 55%
JL554 Bl .900 69%
JL556 Bl .700 67%
JL558 B .200 70%




MEHEZI5I21 1 EEXR(11H24~30BERS)

EEBEAB 2017/10/31 ~
T1/24-30
[=4it| 23 - BEIMIE
4= .
| ERE | g
R CRE)=ki#E5] BUR CPIE) % |_JL565 .400 7%
JL567 .900 | 70%
JL569 200 | 61%
i Bl 5 JL562 .800 57%
JL564 800 | 68%
JL566 400 | 75%
FR CRE) =R FR(CPE) % |_JL551 .200 68%
JL553 400 | 67%
JL555 500 | 65%
JL557 500 | 51%
JENTES JL562 .200 57%
JL554 .900 | 69%
JL556 700 | 67%
JL558 1200 | 70%
IR CRE) =8I FR(CHE)F [_JL541 .900 68%
JL543 900 | 59%
JL545 300 | 63%
ElEES JL540 .700 55%
JL542 300 | 6
JL544 800 | 7
IR CRB)=#HIK RECPHE) S [ JL573 500 7 ) X
JL575 000 | 6 17, 18,200, £:17.400, H:19.000
JL577 7000 | 6 17, 18,200, £:17.400, H:19.000
JL579 400 | 69% 2
HIER JL570 .900 65%
JL572 500 | 66%
JL574 500 | 69%
JL576 000 | 72%
FR CRE)=EfE BUR CPIE) % |_JL585 400 59%
JL587 900 | 63%
JL589 .300 | 48%
R JL584 .000 55%
JL586 900 | 58%
JL588 1900 | _49%
B (R E) =ALIR (37 T ) & /= (P ) 56 | JL3103 20.300 52%
JL3105 20000 | 52%
JL3107 800 | 72%
JL3115 200 | 73%
JL3117 200 | 73%
FLIR G F %) % |_JL3100 .200 73%
JL3106 200 | 73
JL3110 20,600 &:21.100
JL3114 20,600 A:21.100, % £:22.100, H:24.800
JL3118 19.700 &:20.800. £:15.500, 2 H:15.900

JAL



MEEEISI21 SEEXR(12B1~14BEED) JAL

EEEMAB ;- 2017/10/31 ~

12/1-14
=40] FEIMIE
%
R CHE) =% #5) R CHE) % |_JL565 300 | 66% |2:17.700. £:19.500
JL567 800 | 65% |2:18.200. £:20.000
JL569 400 | 62%
i Bl 5 JL562 .200 60% I
JL564 200 | 65% |&+£:16.100. 00
JL566 100 | 69% 4,600, £:14.800.
R (PE) =8I HRCHE) % |_JLsa1 400 | 67% 13,000, £:19.000,
JL543 300 | 54% 18,500
JL545 300 | 67% |A:12.800. %:13.000,
ElEES JL540 100 65%
JL542 000 | 65%
JL544 000 | 63%
R CRB)=#IE RECHE) S [ JL573 200 | 69% |
JL575 900 | 65%
JL577 900 | 65%
JL579 700 | 65%
HIER JL570 .600 66%
JL572 000 | 65%
JL574 000 | 65%
JL576 800 | 65%
FR CRE)=EfE BUR CPIE) % |_JL585 100 57%
JL587 800 | 53% |A:13.900. £:16.100.
JL589 7600 | 53% |%:20.300, H:19.700
BHER JL584 6.500 56% 8
JL586 6400 | 56%
JL588 7200 | 54%




MEEZI5I21 1 EEXR(12R15~21 BERS)

EEBEAB 2017/10/31 ~
12/15-21
=40] FEIMIE
%
R CHE) =% #5) R CFE) % |_JL565 300 | 66% |2:17.700. £:19.500
JL567 800 | 65% |2:18.200. £:20.000
JL569 400 | 62%
i Bl 5 JL562 .200 60% I
JL564 200 | 65% |&+£:16.100. 00
JL566 100 | 69% 4,600, £:14.800.
R (PE) =8I R (FE) 5 [_JL541 400 | 67% 13,000, £:19.000,
JL543 300 | 54% 18,500
JL545 300 | 67% |A:12.800. %:13.000,
ElEES JL540 100 65%
JL542 000 | 65%
JL544 000 | 63%
R CRB) =K FR(AE)F [_JL573 .200 69%
JL575 900 | 65%
JL577 900 | 65%
JL579 700 | 65%
HIER JL570 .600 66%
JL572 000 | 65%
JL574 000 | 65%
JL576 800 | 65%
FR CRE)=EfE BUR CPIE) % |_JL585 100 57%
J1587 800 | 53% |A:13.900. £:16.100.
J1580 7600 | 53% |%:20.300, H:19.700
BHER JL584 6.500 56% 8
JL586 6400 | 56%
JL588 7200 | 54%

JAL



THEZISI21 1 EEXR(11A23BBESD) JAL

EEEMAB ;- 2017/10/31 ~

11723
5547 TR

ERE

=40]

19.500
20.000
20.300
.300
.300
.600

RRECPE) =&k RROPE)RE [ J

s I

R CRE) =8I RERCPE) % ggg
:400
20.900
.100
.900

ElEES

.700
.700
.700
.700
.800
.000
.000
.700

R CRB) =K RECPE) R

HIER

] I I I I S




MEEZISI21 SR (12A22~29BEFES)

EEEMAE ;. 2017/10/31 ~

12/26 12/27 12/28
HEAMTE| BT E| 5T E]

HHE417'E =

=] B8

e mmm | @ | EmE
=K 2

R CHE) =4 (BH) | RRCA\E) K | JL91

|N|N|NIN|NIN|NIN|NIN|

b GIRER) # | JLO00

o

S

=
m|m|m|m|m|m|r

KB (BFH) =ALIR BT F )| KR (7D &

ARGFR)H[

KB (BATE) =L BT F )| KR (Bd8) %

&
B
S
S
n|m|

ALOR (B F %) 58 [ JL2502

RBR (5D =48 (BF) | KBR(FFHF | JL3%41

T GIRER) R | JL3042

R CRE) =% &3 RR(PE) K | JLE65

K@AIFE | JLo62

R CRE)=RJI FRECRE)F [ JL551

TN | _Ji552

R CRE) =#IE RR(HE) %

SIER R Lt

R (PE)=HIL RR(HE) % L

R (CRE) =EtE RR(PE)F | JLE8S

S | JL584

RR(PB)=ES HRECRE)F | _JL253

LE% L252

RRAB)=UOFH | RR(EE) R L291

R (AE)=HE RR(PE) % L277

HR(ABR) =5 RR(PE) K | JL453

EeR [ JL452

|



MEEZISI21 SR (12A22~29BEFES)

EEEMAE ;. 2017/10/31 ~

12/26 12/27 12/28
HEAMTE| BT E| 5T E]

ERE | ERE | E2RE

HEsM7'
) i 23 L

TR
HR
R CHE) =& R (PE)# L k1 .900
500
L 500
500
7.500
1,600
1.600
7.200
7.600
7.200
7.200
7.200

6.900 16.900

3|3

R CRE) =l R (PE) # L4

N
515[815[818

o R S ] ] P N S e

EAITES | JL430

r
m|m|m|m|m|m|r

S

S

KB (F5}) =ERfE K (35 % L:
EE L:
KR (5 =H &% KB (1) L:

BARR

KB () =1kE KR (1)

HhER

KB (B =MlE KB (1)

n|m|
no
45
S
S

> o
5|3
S|

|

|

S|

o|o
SIS

|

|0
S|S

|

S|8

|

0
3|8

|

S|

|

&

S|3

ool
S|1S

|

|0
S|S

RBR (5D =478 KB (1) %

|

S|8

|

|

5|3

SIS

|

= [s[a

HRR

|

3|3

ol
SIS

|

o
3|8|S

|

oo
3|3|8!

RBR (FFH) =l KR (1) %

ol
S|
S|

B
S
S

ol
S|
S|

[ATES

o
S
S

oo|
S|
S|

o
S
S

RBR (=K% KB (1) %

s
5
B

|

3|3

0|5
SIS

RAH

|

> |
3|8

|

3|8

|

KR (5 =R KB (1) %

|

3|3

= |5
3|5

|

o[
3|3

|

5|3

|

o

RIGH

|

S|38|8

DS
==

|

|
3|33

|

KB (BFH =R KB (1) %6

|

51818

AR

R (BFH =2k KB (1) %

AR (B =-ERE KB (1) %

ERBE

BEE (R ER)=HLIR (Hi Filk| B E (PR K| J

ARGHTFR) H[
700
ALIR (B F %) =5 FLAR (B F %) 56 [_JL: ,800
800
800
HHE 000
— .900_|
L: 900
ALIR (37 F %) =BkE FLOR (BT F#%) % [_JL2821 | 15900
.900
PEFR 100
600
ALIR (B F %) = FiRE 200
L: 500
FLIR (B F %) 5 [ L2872 3600 |
L2876 600
AR T i) =L 8 ICES L3403 X 100
#0% (37 F#%) 3| JL3406 200 25.200 200




EEERA

2017/10/31

=]

B8

15E5(7'

FH
g

TR CRE) =54 (BH)

R (PE)#

[ JLe9t

B CIRER) & | JL

RBR (FF1) =L (BT F %)

KB (1)

["JL2001

L2005

L3917

L2009

L2019

ARGFR)H[

L2000

L2006

KB (BEEE) =#L IR (BT F %)

ABR (A7) & | J

AR FFm) 5[

R CRE) =% &3l

RRPE)E | J

ESCETES

R CRE)=R)I

RRPEE | J

FEIES

R (PE)=HIL

RR(HE) %

R (PE) =EtE

RRPE)FE | JU

EER

R (CRE) =R

RR(HE) %

[EITES

RR(PB)=ES

RRPE)E | J

LE&%

R AE)=LOFH

RR(HE) %

R CRE) - E

HR(ABR) =5

RRPE)E | JU

LR

MEEZI5I21 SEER (12A30~31BEFES)

JAL



EEHAR 2017/10/31 ~
HEsM7' =
P B8 %
HAR
RECRE) =& RECRE) % L 5 Bl
[UL4ss
| JL4ss
7
B 4
L476
L478
L480
| Jras2
| Jrass
486
HECRE) =85 RECRE) % L491
[ JLa03 B
| JL495 B
497 5]
JL499 ]
S 1490 B
| JL492 B
1494 5]
| JL496 B
498 B
HECRE) =t RECRE) S [ JLa3l B
L433 ]
P JL430 B
L43; 5]
RIR () =B Ee * (FFN % | L. g
AR L B
KR (5 =& KR (7)) % L: B
FRE ¥
KR (51 = E KR (51) %
Nk
ESR | 21
1
[ 18
KR (=& KR (D% [ J Nk
. 2
[J 700 | 2
J 700_|_20.
[J 700 |20,
[T |
KR (5D =318 KR (D% [ J
et
RIR (5 =#1l KR (5 % [ JL:
[EATTES
KR (D =K% KR (5 % [ JL:
K% |
KR (5 =REX KR (5 % [ JL:
REAS |
KR (5 =26 KR (51) %
B |
KR (FF-ERE KR (D% [ J
ERBR
B R (R ER) =4LIR (BT F k| A5 E (&) &
HLIR TR % |
ALIR (B F %) =5 FLIR (B F i) &L
HHE |
FinE
FLIR (B F %) 56 [_JL:
fEm=E [EEES J
es

L3538

MEEZI5I21 SEER (12A30~31BEFES)

JAL



M#EZR5121 EEXR(1A1~8EEESD)

BEEAR 2017/10/31 ~
Py VAl 72 173 /4 /5 /6 /7 /8
=401 BT E[ BB E| BB E| BB E[ 158547 E[ BB M7 E| BB I E[ BB EIMTE
EEE
RER(EBE) =9 (8 | RERPEFE [ JL 7.800
7.800 0 |
900
900 900
900 900
200 200
500 500
000 000
.000 000
000 600
2 500 100
[JLo23 B 500 000
925 B 500 800
RE () 5 |_JL900 B 400 000
[JLo02 B 400 000
L994 800 000
[ JLoo4 800 000
[—JL906 800 000
L908 900 000
L 300 800
L 300 800
L 300 800
L 000 800
L 800
500
500
KR (D =4LIR (B T &) AR (D3 | J 500
ARGHTFR) R J
KB (BH7E) =ALiR (31 F#%)| KR (B#E) %
FLIR (HFR) %
KR (A =ik (BRE) | KR (R
# (D) R
TBE=HLE T FR) EEEES
ALIR BT8R %
R CHE) =& #5 BER(HHE) % | J
(SRS
B CRE) =8I HR(FA) % L.
e Lt
RECHE)=HL HR(FA) % L.
WER L
L 400 00
L 900 00
R CAE)=RIL R (BE) 5 |_JL231 300 | 12.300 |
[JL233 000 00
[uL237 900 00
[JL239 600 00
L241 500 00
L% | JL232 900 00
N 700 00
[ JL236 700 00
L240 000 00
L242 600 00
RECHE)=LE RR(PHE) S [_JL253 900 U
[ JL255 200 0
[uL257 900 00
[ JL250 500 00
[ uL261 500 00
[ JL263 500 00
[—JL265 900 00
267 400 00
GBR | JL252 500 00
L2548 7.400 100
[—JL256 900 100
(L2586 900 00
[ uL260 300 00
[JL262 300 00
[uL264 400 00
266 400 00
RRAE)-ILOFE | RmCAE) % | _JL201 1100 [ 11,100 |
[JL203 300 00
[ L2905 700 00
L297 700 700
WOFERE | _JL290 600 00
[uL202 600 00
L294 600
L296 600
RRECHE)=HE RR(FH) 5 L277 3.700_|
L279 200
[—JL283 600
[ JL285 800
L287 200
HER 276 400
L2718 900
[ uL280 900
L284 0
L286 0
RR(CHE)=H8 HR(FH) 5 _-222
N
[ JLaso
L461
L463
L465
TS L452
)
[ JL4s6
[—uLass
460
[—JLa62
La64

JAL



M#EZR5121 EEXR(1A1~8EEESD)

BEEAR 2017/10/31 ~
P Ve MV /2 1/3 174 175 176 /7 1/8
[=41] i BT E[ BB E| BB E| BB E[ 158547 E[ BB M7 E| BB I E[ BB EIMTE
EEE b
B (FE) =B RER(HHE) % 5.500
6.100
6.800
7.500
7.500
9,500
20.100
I 800
800
800
L 800
[JLasy B 700
[ JLdsa B 100
L486 B 1100
RRECHE) == RER(PE) S |_JL4ol B 400
[JL493 400
[JLd95 100
497 700
L499 700
BEFE [ JL490 300
[ JLa92 800
494 9,000
[ JL496 20.300
498 400
R CHE) =t ER(HH) % _723;
[ JL43s
437
[ JL439
443
PITES L430
[JLas2
[ Jra3s
[JL436
1438
44
KB () =EfE g (FRF) % | L
RS JL
KR (B =% KR () 5 L:
EHR JL:
KR (B FH=#E KR () 5 L:
HER J 1700 |
1.700_|
0
RBR (D =& AR(FFH R | J ggg
400
400
000
000
000
(=3 400
400
800
800
500
900
700
RBR (D =3%18 KR (#FH % | JL22: ggg
400
500
HBR 800
800
800
800
AR (P =#a il AR(FFH % | J ggg
000
EAITES 000
000
800
RBR (FFH=X% AR(FFH R | J igg
400
A% 200
900
200
KR (FFH % 800
800
800
300
BRAR 900
400
400
100
RIR (FFH=28 KIR(FH % | JL2431 ggg
. 900
800 700
800 700
100 00
BEE | 000
AR (B =ERS AR % | J
J 400
400
000
BER&ER 700
700
800
800
[y 800
800
800
800
REE (P =ALR (H T 25 R (PR ggg
800
000
5,000
HRGHFTR) R 25400
[y 25400
300
300
300
AMEFFR)-HH | ARG FR R 700 400
700 3.400 |
.700_} 3.400_|
BHER | JL: 600 800
) 500 800
600 800
AMEFFR) =B | IR GEFR R ggg
EGE N
AR G FR)=H8 EEES |
IR TR R

HRFTFR) LS

e
HLOR (3F T 58) %

wE=lE

EEEES

[=E

JAL



THEZISI21 1 EEXRQA1~4BEED)

EBEEAA 2017/10/31 ~
2714
=4 B4 BREHTE
B i
RRCRB) =4 (BH) | RRPE)F [ JL901 23.200 22,400,
JL903 26,800 25,000,
JL905 26,800 :25.000.
JL907 26,800 :25.000, H:24.
JL909 25,900 :24.100, H:23.200
J1913 25,900 :23.800, H:22.400
JL915 900 19.300
J1917 .900 £ H:18.300
JL919 700 %:11.200
JL921 200 | 76% |%:11.700
J1923 900 | 63%
JL925 900 | 63%
i (IBER) 5 [_JL900 .700 70% 400
JL902 700 | 70% .900
JL904 200 | 76% 400
JL906 1200 | 73%
JL908 700 | 70%
JL910 22700 | 50%
JL912 22700 | 50%
Jioi4 22700 | 50%
JL916 25000 | 45%
Jioi8 25000 | 45% .
JL920 23200 | 49% 22,000, H:25.
J1922 21,700 | 53% 22,400, H:24.100

JAL



MEEEISI21 EEXR(2A13~19BEED)

EBEEAA 2017/10/31 ~
2/13-19
&R E% - BEHTE
.
BRE | wis
RRCRB) =4 (BH) | RRPE)F [ JL901 22,400 5

JL903 25,000
JL905 25,000
JL907 25,000
JL909 4.100
JL913 .200
JLO15 .900
JL917 .900
JLO19 100
JL921 200
JL923 .900
JL925 .900

i (FRER) R | _JL900 700
JL902 .700
JL904 200
JL906 .200
JL908 .700
JL910 22.700
JL912 22.700
Jioi4 22.700
JL916 25.000
Jioi8 25,000
JL920 23.200 :23.700. +:22.000,
J1922 22.400 :22.800. £ 1:21.700.

JAL



MEEEI5121 EEXR(2A20~28BEED)

EEEMAA : 2017/10/31 ~
2/20-28
=40 i 23 — BEITE
BRE | wis
RRCRB) =4 (BH) | RRPE)F [ JL901 22,400 5

JL903 25,000
JL905 25,000
JL907 25,000
JL909 4.100
JL913 .200
JLO15 .900
JL917 .900
JLO19 100
JL921 200
JL923 .900
JL925 .900

i (FRER) R | _JL900 700
JL902 .700
JL904 200
JL906 .200
JL908 .700
JL910 22.700
JL912 22.700
Jioi4 22.700
JL916 25.000
Jioi8 25,000
JL920 23.200 | 7K:23.700. +:22.000.
J1922 22.400 | 51% |7k:22.800, % F:21.700.

JAL



EEEAR

2017/10/31

=40]

R CRIE) =4k (%)

RRERCPE)R | JL

5 {E547H

2/11

458547 E| B EI4T E]

2/12

ERE

18.300

20.400

20.400

20.400

.700

.000

.000

.000

.700

.200

.000

.000

iR (RER) R | JL

.000

.000

.000

MEEEISI21 BEXR(A11~12BEED)

JAL



T%BEI5| SBE %R (11828~30H %)

3 5 58 R B 2017/10/31 -~
11/28-30
[=35] 23 FEITA
s
RRCAB)-ZAA | R (FIE) 5 | _JL565 | 5300, £:16.200. H:16.900
0.
ES T
RRCAB) BN | R CHE) 5| _J
EnE |
RRCAB) B | R CHE) 5| _J
EEE
RRCAB)-BE | R CHE) 5| _J

JAL



T&BEI5 SEER(12B1~14BEES)

WEFHAB 2017/10/31 _~
=40

TR HE) BN | R G5

[

RRCAB) B | R CHE) 5| _J
EEES

RRCAB)-BE | RRCAB) &
BLE

12.800. +:14.100.

FR CHE)=EfE

EfER

RR (P [ _J

RRCAB)-ERS

HR (P [ _J

12.800. 1:14.100.
00. 12, 900

ERER

13 B
#:17.500, F:13.000

17.300. 7k £:13.000

7.600. 7k £:13.000. H:18.000
00

14,000, H:15.000

.000. H:15.000
000

000




[£5825| BEXR(12815~21BEESH)

WEEAE 2017/10/31 ~
277521
FEHTA FxE{7B
=40) 3%
I A
RRCAE) =R | R () 5[ JL565 | | 45 1AL
| 45EF
| 45EF
wiHAR | J | 45HF
[ | 45EF
| J | 45EF
R CRE) =R RERERCAE) % | 45HF
[ | 45EF
[ | 45EF
| 45E1F
FEVITE BN | 45HF
[ | 45EF
[ | 45EF
| J | 45EF
R (HE)-HIE | R (HE R [asEr
458
458
ElES 458
B (HE)=#HIK RRECRE) %
I
L: 28EVAI | 14400 | 68% 15.100
[y 28EIAI | 14200 | 69% 3100, H:15.900
HR (FIH) =EE RRECAE) % 28R | 13100 65%
28EAI | 12300 | 67%
| 28EAI | 13800 | 63%
E3ES 26E1AT | 14100 | 63%
28EAI | 13500 | 64%
| J 28E1 A | _14.700 61%
B (FE) =K% RERECRE) % 28R [ 15000 65%
28E/I | 17.000 | 60% |HA:16,500, JK:16.600 100, 7K:16.400, 7:15.800, £:14.900. £:16.900. H:16.800
28E#I | 17.000 | 60% |HA:16500, K7K:16.600 5000, k:15.100, :14.900, F:15,500. H:15.800
28E /I | 15700 117,000, £:16,500. H:17,500 14.900_%:15 00
28EI A | 16500 £:15800. & 00_%:17.300 300, £:15.400
28EI A | 16500 800, 7K:17,800. £:18.000. H:18.500 N
K55 28E Al | 15800 16.100. £:16.300 900, £:14.300
28E Al | 15900 X 16.100. £:16.400 900, £:14.300
28EI Al | 16500 700, H:16.200
28EI Al | 16500 115,700, H:16.200
28E /I | 18100 000, 7K:16.600. 7K:17.700, %:17.000, £:16.800. H:18,500 H:17.100
28 HLAIL 16.200. 16,800, %:17.300, H:18.000 14.400, 8:17.100
RRCHBE)-ERS RERECAE) % 28 E il
28 E Al
28 E Bl
28 HLAIL 458
28 HLAIL 458
28 HLAIL 458
28 HLAIL 458
28 HLAIL 458
BERER L 28 HLAIL 458
L 28 HLAIL 458
L 28 HLAIL 458
L 28 HLAIL 458
28 HLAIL 458
28 HLAIL 458
28 HLAIL 458

28 B il




TEBEE EER (12822~25A1BF5) JAL

EEBAA ;. 2017/10/31 ~

PPy P 12/22 12/23 12724 12/25
=B 4 F18547 Al £18547 B| £18547 A| £15547 B| 15517 A % 18547 B[ £ 18547 A[ 15447 B
B | EAs | EAsE | A | RS | A | ERE | @88
RECRE) =R (HF&)| RR(AB) [ J A il .200 00
[J 200 00
[J 400 00
[J 400 00
[J 300
300 0.400
400 500
600 900
600 900
[J 600 900
[J 600 400
[J .000 200
[J .000 200
[J 300 200
[J 300 200
.200 600
HLIR G F i) 5_J .300 000
300 200
300 | 1 700
800 | 1 900
.800 | o 400
800 [ 400
.300 | 500
800 | 700
800 | 700
600 | 200
600 | 200
600 | 200
600 | 800
800 | 500
9.600 | 9 500
9,600 [ 500
RERCPE)=X®HA [ FZRCRE)F[J .700 [ 1 000
100 | 400
500 600
ESCETES 100 200
100 200
.700 900
FR CRE) =R RRCPE) [ .500 000
800 100
900 800
900 800
BN .500 000
500 300
.200 600
.800 200
FRCRE) =8I EEAC:ES 400 700 100
100 000 200
200 100
BEEse .700 400
100 600
400 100
EEACE:E TN EEACT:ES .700 000 000
800 800 100
800 800 100
400 900 100
HILF .600 7.600 | 800
200 700 800
200 700 800
100 800 900
R (CRE)=EfE RRCRE) [ .800 700 900
700 700 300
.900 900 300
B 500 700 400
500 500 800
500 500 900




TEBEE EER (12H26~2901F45) JAL

EEBAA ;. 2017/10/31 ~

12/26 12/27 12/28 12/29
K155 Al 5215447 B 518547 Al 5615547 B 515447 A 15547 B| E15547 Al %£1554178
B | ERHE | EAE ERE | ERE ERE | ERE ERE

bei#s (7 peids(7
= 8 o
M

Al .800

.800
.700
.700
20.700
20.700
9.600
7.000
.800
.800
.800
.500
.500
.500
.500
.500
.700
.000
.400
.800
.400
.400
.700
.400
.400
.000
.000
.000
.000
.000
.500
.400

R (FE) =ALIR (31 F %) RRCRE) %

[N NRRRN

ALIR (37 F %) A

°|°

|

|
3|3

o|o

N
S|

|
S|
S|

|
S|
S|

S|S|
S|S]

PPN

N

S|S|S!

o
S|S|S!

O O

22.300
22.700
.500
.200
.200
.200
.500
.700
.700
.500
.500
.700
.500
.700
.700
.500
.700
.500
.700
.900
700
7.500
7.700
7.700
7.700

IR CRE)=18R RECRE)#| J

[sehsbebstshelshshsebsl:

— oo | o [

[EES

AR CRE) =4 (RH) | RRCAB) #[ J

700 | 15,900
400 | 14,900
400 | 13,900
900 | 13,400
400 | 14,900
400 | 14,900
600 | 10,300
600 | 10,300

S (ARR) 2|

100 |_9.800
100 | 9,800
600 | 10,300
800 | 10,300
800 | 14,800
800 | 14,800
800 | 14,800
1600 | 16,600
7,600

KR (5 =ALIR (B F k)| RBR (£#73) % | JL2001 |

EXCIETE A T

A G -BE | KR () 5 [ L

EEEES

KRR () =i (BF) | KR (7 %

R %[

RRERCAB)=XHA | RR(EE) % J

ESEEIES

RECRB) =R RECPE)#| JL651 |

JENIES

R CRE) =8IE8 HR(CRE) [ JL! 28 700

TS [ 28 .000

L 28 300




EEEAR

017/10/31 ~

TEBEE EER (12H26~2901F45)

B

pERI(7"

R CRB) =K

R CRE) #

pE1F547

12/26

12/27

12/28

12/29

G547

Al %8417 8

155947 A 15417 B]

H£1G5947 A 15447 B]

H£1G947 A 15447 B

ERE

.700

.700

.800

HILSE

.900

.700

.700

.300

R CRIH) =B

SRR CPE) | JL68S |

20.500

.400

.900

EER

.000

.400

.400

RRECRR)=HE

R CRA) #

.100

.900

.400

.400

.300

.400

ERE

2]

700
000
000
600

700

R

148 | EAs

EAdE | EAE

.900

.800

.400

.300

.800

RRCAB)=ES

AR CRE) #

.900

.900

.900

.900

.300

.300

.300

[EEES

.800

.200

.200

.200

.200

.200

.000

R CRE) =&

AR CRE) #

.300

.100

ool
S|S|S!
S|S]

o[ o [ [ oo [wo feo [w o[
SISISISIS|8|18|1818S|S!
S|S|3|3|3|3|3|3|3(3|S!

||
S|S]
S|S]

.200

.200

.200

.300

.300

.200

.300

.300

.300

.600

.100

.600

RRCAEB)=ERS

R CRE) #

.400

e
oS3
S|S|3!

.400

.700

.700

.700

22.200

.100

ERE

28

ERE

.100

ERBR

.600

.000

.000

.000

.000

.000

.000

.000

KR (7+3) =EHE8

KB (FFF)

.600

BRAE

20.500

KR () =K

R () 5 |_JL

Il
3|
5|
&

.500

.200

.500

RRF

.400

,400

,800

KR (7 =RER

KR (75)

,700

,500

13500 | 1 1

13,500

12,700

13,500

13,400

12,100

14,000

12,400

11,900

13,100

14,300

13,700

14,300

KR (R =ERS

KR (75)

12,900

12,400

,800

,800

,800

,800

,800

,500

ERBR

300

:300

11,800

13,200
13,200
12,300
12,300
12,300
13,000

11,800

,300

,300

,300

000

,500

55 (R ED) =AL IR (B T B 3 2 () 3

300

7.000

4,200

4,200

.800

4,200

HLIR (37 F %) A

9,100

9,600

7.600

7.600

700

ARGHTF ) =HHR

HLIR (37 F %) A

,000

,000

,000

BHRR

,000

,000

,000

IR FTFR) =S

20,600

EES
HLAR (B F %)

19,800

JAL



EEEAR

017/10/31 ~

TEBE5 ESER (12830~31 B ES)

B

R (FE) =ALIR (BT F %)

R CRE) # 50

BER417 RERI(T

¥

g

12/30

12/31

H£G7 A 15447 B]

155947 A 15417 B]

ERE

24.900

24.900

31.100

26.900

27.500

.700

.700

.700

30.000

26.500

30.000

30.100

26.400

28.600

26.400

26.400

ALIR (37 F %) A

6.300

ERE

EAdE | EAE

R CRIE) =ik (%)

RECRE)#| J

PR () S|

wlwlwlolo
S|1818181818|8]
S|S|3|3|3!

o=
3|3
S|S]

=IES
5|53
S|3|3!

KR (751 =ALIR (B F %)

KR (779) [ JL

|
3|
S|

oo | |n x|z
SIS S S
S|3|3|3|3|3|38]

LR G ) 3L

RRCPE)=&injl

R (FE) % |_JL565 |

ESCEIES

R CRE) =R

RECPIE)$| JL651 |

JENTES

R CRIE) =8IE&

RECRE) #

FTEES

RECRR)=HIE

RECRIR) #

R CRIR) =B

RECRE) %] J

EER

R CRE)=FEW

RECRR) %

[EITES

RECAR)=HE

RECRR) %

RECAR) =8

RECRE) [ JL

[EES

800

JAL



EEEAR

017/10/31 ~

TEBE5 ESER (12830~31 B ES)

B

pERI(7"

RRCRB) ==

R CRE) #

pE1F547

12/30

12/31

H£G7 A 15447 B]

155947 A 15417 B]

ERE

24.300

26.200

27.200

27.200

24.700

22.100

.200

.700

ERE

20.300 20.200
00
00
00
00
00

3.

S|
S|

900

.100

.600

.600

.000

.100

.000

R CRE)=#l

R CRA) #

.400

1.000

0.400

30.400

00
00
00
00
00

[olelel- S22

28.300

7.300

EATES

7.300

7.300

.500

.500

.900

.200

R CRE) =K%

RRECRE)#| J

0.500

0.800

0.800

0.800

o [eo[eo e

0.500

0.500

RnF

.600

.600

.500

.500

.900

.800

R CRE)=fEX

RRECRE)#| J

0.500

30.500

30.500

30.500

30.500

30.500

28.900

30.500

=33

19.200

20.700

.800

.000

.000

.500

.500

.800

RROPE)=ERS

R CRE) #

.600

.100

700

700

700

700

.100

.100

ERBR

.500

.000

.000

.500

5
|

.500

.500

.500

.500

KR (7+3) =EHE8

KB (FFF)

500

BRAE

20.200

KR (753) =T E

KR (7) %

23.600

25.500

mER

KR (D =HlE

KR () 2| J

=1t et e e N S Y

I
N

I
N
S|

KR (D) =38

KR (f773) 5| JL2241 |

KR (751 =26

KR ()

B (R ED) =ALIE (B T R & 2 () 3

HLIR (37 F %) A

ARGF ) =HHK

HLIR (37 F %) A

BHRR

JAL



(588151 EEE (1 B 1~4BERS) e

EEBAB : 2017/10/31 ~

1/1 1/2 1/3 1/4
518447 B %18547 A| 15547 B| 15547 A| 15547 B| 518547 A| 5215447 B]

- . PER A7 BERH17 A

R CHE)=LIR (3 F&%)| RRCRE) 5 _’50
400
600
600
200
200
J 300
000
J 000
000
[ 000
[ 600
[ 600
[ 800
[ 800
2600 |
FRACEZSE I 300
[ 000
[ 25500 |
28.900
J 27.300
30.000
J 30.000
30.000
30.000
800
0 800
WRCAE)BE | RR CAE) %[ _J 500 500
500 500
500 500
500 500
500 500
500 500
500 500
500 500 500
500 500 500
500 500 500
.500 500 500
500 500 500
500 500 500
500 500 500
500 500
500 500
500 500
BE%E | _JL300 500
[JL302 500
L304 .500
[JL306 900
L308 500
L 200
L 200
L 900
L 200
L 200
[ JL320 200
[JL322 200
L324 500
[ JL326 500
[JL32s 200
[JL330 500
L332 200
R CRM) = (B8 | B (FM) 36| _JL991 800
L901 800
[JL903 900
[ JL905 900
[JL907 900
L909 500
3 500
L915 200
00
00
300
300
RGBT T 5200 |
5300 |
5400 |
3400 |

[~
S
S

000
L 800
L 800
L 800
L 800
L 300
[ JL921 500
L922 400
KBR (7 FH =FLIR (37 F8%)| KIR (£#7H) 5| JL2001 600
L3911 600
["JL2005 800
L3917 1.200

[
S
S

=
=
S
S

o
S
S

HLAR G F %) §|_JL2000

>
[~
S
S

400
400
400
I I 400
KR (B78) =HLIR (37 F#%)| KR (B78) 5| J sggg
L: [ o 500
HLBR (3 F i) 5_JL2502 | 12 400
[ 12,900 400
[ 18,000 400
KB () =18 KR (#FH $ | J [ 10600 800
[ 11.200 400
[ 12,200 400
11.800 800
S [_10.600 600
[ 12.800 100
1 600
1 600
KR (7P | 14,600 400
15.600 400
11,000 200
PR (IRER) 5 [ JL34: | 11800 | 800
 JL208: | 13300 | 500
L2088 |_19.400 300
EE=FLR (FFm) S L. [ 16.600 100
L: | 16.600 100
HLER (31 F &%) L | 16,600 000
[19.100 500
R (PE)=%#E5 | R (FE) [ _JL565 14,900 500
[JL567 [ 16.400 900
L569 [ 16.100 600
TERIE |_JL562 [ 15200
[JL564 14.700
L566 19.100
FR (FE) =)l FRCFIE) $| JL551 10.900
[JL553 13.400
[JL555 12,800
L557 |_13.800
TENFE [ JL5562 [ 13400
[ JL554 [13.900 |
[JL556 [ 18700
L5568 [ 18200




(588151 EEE (1 B 1~4BERS) e

EEBAB : 2017/10/31 ~

P ) Y 1/1 1/2 1/3 1/4
= P 3 s A 37 Bl A Al S B T BT A 7| Ry AT
WAS | BAW | BAE | BAE | GRS | SR | SRR
RRCAE)HIE | RR(RE) % 13200 13000 | 13300
1 1
| 14
FEE I
i
FEOBRE | RRGERE it
1
1
i
ET3 i
1
| 16
[ T
AR eI I
1
[ 12
TEE I
1
i
EEAE ) AN e ) T
1.
1
1
1
1
1
n
(e I
1
12,
1
1
1
1
1
FROEHE | RRGERE I
1
1
1
1
HEE i
1
1
18,
T
FRGIE) BB | AR R i
K 400
1 400
1 700
1 200
1 500
1 500
LS [ 11 700
11 200
K 300
[ 13 600
13 600
[ 13 600
13 600
ESAET] RERE R i 3100 ]
1 600
1 600
1 600
1 600
1 400
1 400
BRE 1 100
11 900
K 700
[T 300
T 300
[ te 300 400
T 300 100
ESAET) EEICEIE BN i 200 100 |
12 200 400
[ 12 600 500
12 600 000
12 200 100
ST |12 000 800
12 700 700
12 700 700
T 700 700
T 700 700
TR GIE L | R R R [ L i 700 3500 ]
12 600 000
12 600 000
12 600 500
12 000 200
12 000 800
PTIES [ 12 500 700
12 900 700
12 800 700
T 900 700
| 16 900 ,700
T 900 700
TR AR | BR HE R [ L T 300 5500 |
1 400 800
1 400 800
1 100 500
1 900 500
1 500
ARH | 14 700
1 400
| 22 400
|22 400
400
400
TROE) ERE | RRGIER :
BERER
1
]
2 400
2 400
PN TR I NG i 500
FEE K 800
FEGM-RE | KB EME s 700
1 100
1 700
BEHRE | 16 700
1 900
1 700
REGM-RE | KB GME i 500 |
1 200
1 500
WER 1 700
1 700
1 700
REGMFE | KB EME i 500 ]
[ 1500 |
|15 .800
[ 5900 ]
EES [ 1 900
1 900
L1 900
] 6,000 |




BEHAR

2017/10/31

MERJRE EER(AI~4BEESD)

=35

pERS47

KB (R =il

KR (F#FH | J

pE1§547

EATTE

1/1

1

/2

1

/3

1

F13447 Al %1547 B]

F 15447 A

KB (D =R

KR (F#FH | J

[ 33

KB (=28

KR (F#FH | J

RBR (D =REIR

KR (77 F | JL

B (P E) =ALIR (5 T B = 2 (P )

518447 B|
B

F 15447 A
B

518447 Bl 15447 A|
3 B

B

o
S
S

<
S
S

o
S
5

o0
S
S

=
5

o
S

N
S
5

[~
S
S

N
S
5

[
S
S

0
S
5

n
S
S

0
S
5

n
S
S

o
2
5

o
S
S

<lio
(S|
S|S]

S
=
S

o
S

NN
S[S|
3[S]

N
S
5

[
S
S

N
S
5

NN SRRR
FEER

[
S
S

=
5

o0
S
S

o
S
5

o0
S
S

o>
o
S
5

o0
S
S

o>
o
S
5

o0
S
S

&
o
S
S

o0
S
S

oo
S
5

o0
S
S

S
=
S

~
>
S

S
=
S

~
>
S

= |
S|
S|

=
S
S

o
2
5

|
|

/4
518447 B|

B

1

(LR (37 F %) 3

ARG FR)=HH

WL (BT F i) H_J

wE=la

EER

=3

MR EEEEEE RS

a[a
S8

0
S
S

o
3
S

=
S
S

o
S
S

0
S
S

oo
S
S

o0
S
S

oo
S
S

oo [co|
S|S]
S|S]

=
S

S
>
S

S
S

o
3|
S|

o
&
S

S
S

S[S
3[S

ool e
S8EE
SE8ES

o
S
S

S
S

o0
S
S

o0
S
S

>
S

o
S

JAL



r£BEI5 EER(1A5~8HBRD) JAL

EEBAA ;. 2017/10/31 ~

1/5 1/6 1/7 1/8
K155 Al 5215447 B 518547 Al 5615547 B 515447 A 15547 B| E15547 Al %£1554178
B | ERHE | EAE 3 ERE B ERE

bei#s (7 peids(7
= 8 o
M

Al .400
.400
.600
.200
.000
.000
.600
.500
.300
.300
.500
.000
.000
.100
.100
.000
.500
.500
.500
.100
.000
.400
.400
.400
.400
.200
.700
.700
.400
.100
.100
.700
.800
.800
.900
.900
.900
.200
.500
.600
.600
600
.100
.600
.600
.600
.800
.500
.500
.500
.600
.200
.200
.200
.200
.200
.200
.800

R CHE) =AUk (BT )| R CHE) & [ 45E 1| 12 600 00

S|
S|

S|
S|

S|
S|

o
S|
S|

o
S|
S|

~
S|
S|

~
S|
S|

-
S|
S|

~
S|
S|

o
S|
S|

o
S|
S|

oo
S|

ALIR (37 F %) A

LR EEEEEEREEEE R

R CRE) =4 (RH) | RRCAE) F[ J

o|o

> [
S|S]
S|S]

S|
S|

EEY
o|3]
S|S]

o[
3|3
S|3]

===
S|3|3S!

o|
3|
S|
o|
3|
S|

SR (ARER) |

|
|
3|
S|

|
3|3
S|S]

|
3|
S|

|
|
3|
S|

|
3|3
S|S]

|
3|
S|

o |
o|
3|
S|

=
S|S]
0|
S|
S|

~|~

|
S|
S|

=
S|S]
|
S|
S|

~|~

0|
S|
S|

=
S|S]
0|
S|
S|

NN
S|S]
S|S]

0|
S|
S|

o
N
S|
S|

500
500
500
600
600

2019 800

2000 | 28 400

L3912 | 28 400
["JL2006 | 28 400

L2010

3018

L2016 |

L2051

|
3|
S|

KR (25 =ALIR (B F k)| RBR (F#73) % | JL2001 |

o ||
S|S]
S|S|

|
S|
S|

|
3|
S|

|
3|
S|

5 ||
=&

LR G ) 3L

55|
S|S|
S|S|

28 .900
28 .900
28 .900

NN
S|3S|
S|S|

0|5
3|S|S!

28 .900
2053 | 28 600
[ JL2057 | 28 100
L2061 | 28 .900
@R [ JL2050 | 28 600
2056 | 28 ,300
L2058 | 28 ,300
L2060 | 28 700
HBE=ALIR T i) tEfA% | JL3513 ] 28 20,100
L3515 | 28 7.600
FLIR (37 F %) H|_JL3510 | 28 ,200

KR (7+53) =48R KR () 2| J

,200
,600
,900
,000

700
RRECAB)=ZHH | RR(EE) %] J

ES-EIES

R CRE) =R RRECPE)#| J

JENTES

R CRIE) =8IE& RECRE) #

SIEESE

RECRR)=HIA RECRE) #

R CRIR) =EE RRECRE)#| J

E3ES

RECAR)=HE RECRR) %

RECAR) =8 RRECRE)#| J

[EES




r£BEI5 EER(1A5~8HBRD) JAL

EEBAA ;. 2017/10/31 ~

PRV PR 1/5 1/6 1/7 1/8
- e e s A S 17 B 7 A 7 6] oty Al R 7 B Ry A T
BRE | ENE | ENE | EAE | EAE EnE
BRI -BE | FA(E) %[ J7s | 286w [ 4561 13500 [Ta300 | 7600 | 14000 iz00 |
¥ 28 100 [ 16,600 | 1 500 [ 12,500
¥ 28 200 [ [ [ 12,500
¥ 28 200 [ [ [ 12,500
[ 200 [ [ 000
[ 300 [ [ 300
300 [ i [ 16.300 |
TS .000 [_12.300
400 1 1 [ 12300
[ 600 [ [ [ 12,800
[ 600 [ [ 000
[ 400 [ [ 300
[ 200 [ [ 200
200 1 1 200
RRGEGL | RAGEE 200 15000 | 700
[ 000 [ [ 700
500 1 1 500
500 1 1 500
200 1 1 200
100 1 1 700
PRI 8.100 [ [ 500
9,800 17100 | 1 500
20,800 15400 | 1 000
20,800 [ 15500 | 1 700
800 [ 14900 | 1 [ 16.200
900 [ 12400 | 1 [ 15.200
TR (G- | A (Em %] J 200 [i8500 [ i [ 18.300
FEE | J 300 [ 18300 | 1 [19.100
S AC T PG I 500 [ios00 | 10300
J 700 [ 10.900 | 1 [ 10,800
J 900 10700 | 1 [ 10,800
L% |J 800 [ 10.800 | 1 [ 10.300
J 900 10,500 | 1 [ 10,200
J 300 [ 10.900 | 1 [ 11.800
BB AA | ARG R 00 700 [ 0400
J 400 10700 | 1 [ 10.400
[J 400 13500 | 1 [ 10.400
J 500 10700 | 1 [ 10.400
AR | J 700 [ r1.000 [ 1 [ 10.700
[J 700 [12.900 | 1 [ 10.700
J 700 [ 13.000 | 1 900
L 900 [ 11.000 [ 1
AR GRER | AR L 500 [Tias00 [
J 900 [ 15900 | 1
900 [ T6.100 | 1
J 600 [ 15.600
600 [ 15600
100 [ 14900
R .900 | 17.300 |
7.900 A
800 [
800 [
[ 800 [
L 800 [
BT (3D =ALUR (B ¥ s i (D) 3 400 [ 1
9.600 o 9
9.100 o 9.
9.100 [ 9
AEETAE 300 i [
500 T E
400 T E
800 T e
7.700 T E
GRS ARGTRA 500 i [
500 T 12
500 T 12
wEE | 700 i [
J 700 T 12
800 T 12
ARGHTREE | _EEE 500 2
ELOR (27 F £5) 5 20.000 1




5158151 15&

EER(1AI~I5BBES)

WEHEAE 2017/10/31 ~
T/9-15
XpS B4 S FxE{7B
ERF o | S %
RR(RAE) -Zms | BRCHE) %] 12.200 45H I | 11700 H:14.900
12.700 45E I | 12200 15,000, £ H:16.400
14.200 45081 | 13.800 1 16.200
TEAFE 14.200 45881 | 13.700
[J 13.200 45H I | 12700
| J 11.000 ASHET | 10300
RRCRE) =8Il RRCAE R 14.200 45881 [ 12.700
[ J 14.400 ASEET | 12.800
[ J 13.700 ASEET | 12000
13.700 45081 | 12.800
ek | J 14,000 45081 | 13.200
[ J 12.900 ASEET | 11.500
[J 12.800 45081 | 12.400
[ 12.800 45E A1 | 11400
R NE)-ERE | B (PE) R|_J 14100 45081 | 13.700
[J 11.700 45881 | 11.200
[ J 13.800 45081 | 13.300
AR | _JL584 | 28RN | 15700 45H I | 15300
[ JL586 | 28I | 14.100 45H I | 13600
| Ji588 | 28I | 14.700 45E I | 14200
B (HA)=LE W (PE)$ [ _JL253 | 28Rl | 13.400 458AT | 12.300
[ JL255 | 28I | 17.600 45HRI | 17100
[ JL257 | 28I | 17.600 45HRI | 17100
259 | 28EEI | 17.100 45H I | 16100
1261 | 28 FI Al | 12800 45H I | 12300
263 | 28EEI | 12.800 45H I | 12300
265 | 28EE1 | 15300 ¥ 45H i | 14800
15,800 00T H:12.800 45H i | 15300
RE3 13700 | 60% 2800 45H I | 12900
15300 | 56% 2800 45E i | 14800
12,900 £ H:12.800 45H I | 12300
12,900 45H I | 12300
12,800 45H I | 12300
16,000 45HAI | 14700
16.400 45H I | 15900
[y 16,400 E 45H I | 15900 400 £ 11,800
R HE) =B | Jm (E) 3| _JL475 | 28AAI | 13.300 | 60% 45H I | 12900 £ H:13600
L477 | 28EAI | 16100 | 51% 45H I | 15300 £:15.800. H:14.300
L479 | 28R | 13200 | 60% 45H I | 12500
1481 | 28I | 13200 | 60% 45H I | 12500
3 | 28FIAT | 13200 | 60% — 45H I | 12500 —
485 | 28EEI | 14200 | 57% 6.800. £:13.000 45E#l | 13600 800 :12.700
487 | 28EEI | 17.300 | 48% 7.800. 14,000 45H I | 16300 800 +:13.700
B33 L474 | 28FIAI | 14200 | 57% [®+:15700. Euxsoo 45H I | 13300 :14.800. H:12.300
L476 | 28I | 15300 | 54% [&+:16.100. H:13.300 45H i | 15000 £:15.900. H:12.900
478 | 28 A1 | 13.300 45H I | 12800
80 | 28I | 13.300 45H I | 12900 £ H:13.000
[ JL4s2 | 28I | 14.600 45H I | 14300 14.800
[ JL4sa | 28I | 17.100 45H I | 16200 > £:16.700. £ 14.700
[ JL486 | 28I | 16.600 45H A1 | 16500 000
RR(AE)=RB | "R (FE) R _JL605 | 28HE | 15500 45H i | 13200
[ JL607 | 28I | 16.400 45H i | 14600
1609 | 28FI A | 15500 45H i | 13300
L611 | 28FIAI | 15500 45H i | 13300
15,500 45H i | 13300
15,500 45H i | 13300
RIB5E 15,500 ) 45H i | 13300
15,500 ) 45H i | 14900
16.100 X 45H i | 14000
16,800 & 45H i | 15000
16,800 1% K16 45H i | 15000
15500 4% [£:16,000. H:16.800 45H i | 13500
R (PH)-BERE | RxCHE) 5 |_JL 28E A | 12500 800 45H i | 10000
L 28E A | 13000 300 45H I | 10500
L 28E A | 13000 300 F:17.300 45H I | 11500 12000
L 28E A | 13000 45H A | 10500
1649 | 28 FI A | 13000 45H I | 10500
L651 | 28 FIAI | 13000 00, 17,300, H:16.800 45H I | 11500 £.15.400
[ JL653 | 28HAi | 13.100 | 70% 113,000, ﬁwsaoo H.17.100 45H A | 10500
1655 | 28 FIAI | 13100 E £:15.800. H:17.300 45H I | 10500
BERER L 28E A | 12500 45Hi | 11000 | 75%
L 28E A | 13000 458 | 10500 | 76% [/
L 28E Al | 13000 45H A | 10500 6% |
L 28E Al | 13000 45H I | 10500 6% | K14
28E I | 13100 45H I | 10500 6% | X:14.900. H:11,500
28E I | 13100 45H i | 10500 6% | X:14.900. H:11.500
28 BRI | 12500 p 800, 45B i | 11000 | 75%
28HAI | 12500 | 71% 800, H:16.300 45HRi | 11000 | 75%




M558 EER (1B 16~24BHEES)

WEHEAE 2017/10/31 ~

T/T6-24
XpS B4 FxE{7B
" MNAED s
RR(RAE) -Zms | BRCHE) %] 12.200 45H I | 11700 H:14.900
12.700 45E I | 12200 15,000, £ H:16.400
14.200 45081 | 13.800 15.200, H:16.200
TEAFE 14.200 45881 | 13.700
[J 13.200 45H I | 12700
| J 11.000 ASHET | 10300
RRCRE) =8Il RRCAE R 14.200 45881 [ 12.700
[ J 14.400 ASEET | 12800
[ J 13.700 ASEET | 11.800
13.700 45081 | 12.800
ek | J 14,000 45081 | 13.200
[ J 12.900 ASEET | 11.500
[J 12.800 45081 | 12.400
[ 12.800 45E A1 | 11400
R NE)-ERE | B (PE) R|_J 14100 45081 | 13.700
[J 11.700 45881 | 11.200
[ J 13.800 45081 | 13.300
AR | _JL584 | 28RN | 15700 45H I | 15300
[ JL586 | 28I | 14.100 45H I | 13600
| Ji588 | 28I | 14.700 45E I | 14200
B (HA)=LE W (PE)$ [ _JL253 | 28Rl | 13.400 458AT | 12.300
[ JL255 | 28I | 17.600 45HRI | 17100
[ JL257 | 28I | 17.600 45HRI | 17100
259 | 28EEI | 17.100 45H I | 16100
1261 | 28 FI Al | 12800 45H I | 12300
263 | 28EEI | 12.800 45H I | 12300
265 | 28EE1 | 15300 ¥ 45H i | 14800
15,800 00T H:12.800 45H i | 15300
RE3 13700 | 60% 2800 45H I | 12900
15300 | 56% 2800 45E i | 14800
12,900 £ H:12.800 45H I | 12300
12,900 45H I | 12300
12,800 45H I | 12300
16,000 45HAI | 14700
16.400 45H I | 15900
[y 16,400 E 45H I | 15900 400 £ 11,800
R HE) =B | Jm (E) 3| _JL475 | 28AAI | 13.300 | 60% 45BFI | 12900 | 61% |[&TH 13600
L477 | 28EAI | 16100 | 51% 45BFi | 15300 | 54% [ :15800. H:14.300
L479 | 28R | 13200 | 60% 45HI | 12500 | 62%
1481 | 28I | 13200 | 60% 45HI | 12500 | 62%
3 | 28FIAT | 13200 | 60% — 45BFI | 12500 | 62%
485 | 28EEI | 14200 | 57% 6.800. £:13.000 45HFI | 13600 | 50%
487 | 28EEI | 17.300 | 48% 7.800. 14,000 45HI | 16300 | 51%
B3 L474 | 28RN | 14200 | 57% [&F 5.70&@300 45H I | 13300 | 60% 114,800, H:12.
L476 | 28I | 15300 | 54% [&+:16.100. H:13.300 45BFI | 15000 | 55% [&7:15900. H:12.900
[JL478 | 28I | 13.300 45HFI | 12800 | 61%
80 | 28I | 13.300 4587 | 12900 | 61% |&F H:13000
[ JL4s2 | 28I | 14.600 45HI | 14300 | 57%
[ JL4sa | 28I | 17.100 45HI | 16200 | 51%
[ JL486 | 28I | 16.600 45Bi | 16500 | 50%
RR(AE)=RB | "R (FE) R _JL605 | 28HE | 15500 45HRI | 13200 | 70%
[ JL607 | 28I | 16.400 45BI | 14600 | 67%
1609 | 28FI A | 15500 45HRi | 13300 | 69%
L611 | 28FIAI | 15500 45Hi | 13300 | 69%
15,500 45Hi | 13300 | 69%
15,500 45Hi | 13300 | 69%
RIB5E 15,500 ) 45HI | 13300 | 69%
15,500 X 45HRI | 13400 | 69%
16.100 ) 45HI | 14000 | 68%
16,800 & 45HRi | 15000 | 66%
16,800 1% K16 ¥ 45HRi | 15000 | 66%
15,500 TS .000 H:16.800 45Hi | 13500 | 69%
AR (AE)-ERE | BmCHE) % |_JL 28E A | 12500 8 4587 | 10000 | 77"
L 28HAI | 13000 | 7 .300 45H I | 10500 K
L 28HAI | 13000 | 7 300 F:17.300 45H I | 11500 £:12.000
L 28HAI | 13000 | 7 300 45H A | 10500 115,400
1649 | 28FIAI | 13000 | 7 45H I | 10500 115,400
L651 | 28FIAI | 13000 | 7 00, 45H I | 11500 115,400
[ JL653 | 28HAi | 13.100 | 70% 113,000, ﬁwsaoo H:17.100 45H A | 10500
1655 | 28FIAI | 13100 | 70% £:15.800. H:17.300 45H I | 10500
BERER L 28HAI | 12500 | 7 45Hi | 11000 | 75%
L 28HAI | 13000 | 7 45H i | 10500 | 76% |X:15400
L 28HAI | 13000 | 7 45H A | 10500 6% | X:15400
L 28HAI | 13000 | 7 45H I | 10500 6%
28HAI | 13100 | 7 45H I | 10500 6% 500
28HAI | 13100 | 7 45H i | 10500 6% 500
28 BRI | 12500 45B i | 11000 | 75% 500
28H AT | 12500 45HRi | 11000 | 75% 500




I%&/BE5 BER(1A25~31AEED)

WEHEAE 2017/10/31 ~
=37
XpS B4 FxE{7B
| " MNAED s
RR(RAE) -Zms | BRCHE) %] 12.200 45H I | 11700 H:14.900
12.700 45E I | 12200 15,000, £ H:16.400
14.200 45081 | 13.800 15.200, H:16.200
TEAFE 14.200 45881 | 13.700
[J 13.200 45H I | 12700
[ J 11,000 45H 1 | 10300
RRCRE) =8Il RRCAE R 14.200 45881 [ 12.700
[ J 14.400 ASEET | 12800
[ J 13.700 ASEET | 11.800
13.600 45081 | 12.800
ek | J 14,000 45081 | 13.200
[ J 12.900 ASEET | 11.500
[J 12.800 45081 | 12.400
[ 12.800 45E A1 | 11400
R NE)-ERE | B (PE) R|_J 14100 45081 | 13.700
[J 11.700 45881 | 11.200
[ J 13.800 500, H:15.500 45081 | 13.300
AR | _JL584 | 28RN | 15700 £+ 16500, H:16.400 45H I | 15300
[ JL586 | 28EAI | 14.100 | 60% 16,600 45H I | 13600
| Ji588 | 28Ei | 14700 | 58% 45E I | 14200
B (HA)=LE W (PE)$ [ _JL253 | 28Rl | 13.400 61% 458AT | 12.300
[ JL255 | 28EAi | 17.600 | 49% 45HRI | 17100
[ JL257 | 28EAi | 17.600 | 49% 45HRI | 17100
259 | 28EEI | 17.100 | 51% 45H I | 16100
1261 | 28FIAI | 12800 | 63% 45H I | 12300
263 | 28EIEI | 12800 | 6% 45H I | 12300
265 | 28EEI | 15300 | 56% ¥ 45H i | 14800
15800 | 54% 00T H:12.800 45H i | 15300
RE3 13700 | 60% 2800 45H I | 12900
15.300 45E i | 14800
12,900 45H I | 12300
12,900 45H I | 12300
12,800 45H I | 12300
16,000 45HAI | 14700 1 K
16.400 45H I | 15900 400, £ H:11.800
[y 16,400 45H I | 15900 400, £ H:11.800
RR(IE) =B | RR (WE) 5| _JL475 | 28EAT | 13300 45H I | 12900 £ H:13.600
L477 | 28E Al | 16100 45H I | 15300 £:15.800. H:14.300
L479 | 28FIAI | 13200 45H I | 12500
1481 | 28FIAI | 13200 45H I | 12500
3 | 28 1A | 13.200 45H I | 12500 —
485 | 28N | 14200 45E#l | 13600 800, £:12
487 | 28I | 17.300 45H I | 16300 800, :13
B3 L474 | 28R | 14.200 700, H:13. 45H I | 13300 114,800, H:12.
L476 | 28I | 15300 | 54% [&+:16.100. H:13.300 45H i | 15000 £:15.900. H:12.900
478 | 28EEI | 13.300 | 60% 4800, F:14.600 45H I | 12800
80 | 28HAI | 13300 | 60% 00, 14,600 45H I | 12900 £ H:13.000
[ JL4s2 | 28EAi | 14600 | 56% 00, £:15.000. H:15.800 45H I | 14300
[ JL4sa | 28I | 17.100 17.600. £ 15 001 45H I | 16200
[ JL486 | 28I | 16.600 14,000 45H A1 | 16500
RR(AE)=RB | "R (FE) R _JL605 | 28HE | 15500 45H i | 13500
[ JL607 | 28HAi | 16400 | 62% 18 45H i | 14600 1 16,000, H:13.900
1609 | 28FI A | 15500 116,000, £:17.600. H:15.800 45H i | 13300 3200, %:15.400. £:14.000. H:13.900
L611 | 28FIAI | 15500 E: 17,600, H:15.800 45H i | 13300 E]
15,500 45H i | 13300
15,500 45H i | 13300
RIB5E 15,500 ) 45H i | 13300
15,500 & 45H i | 13800
16.100 DT 45H i | 13500
16,800 K16 45H i | 15000
16,800 1% [7K:16.000. A+ .15.500. 45H i | 15000
15,500 4% [£:16,000. H:16.800 45H i | 13500 13.000. H:15.000
AR (AE)-ERE | BmCHE) % |_JL 28E A | 12500 800 45H i | 10000
L 28E A | 13000 300 45H I | 10500 K
L 28E A | 13000 300 F:17.300 45H I | 11500 £:12.000
L 28E A | 13000 300 45H A | 10500 115,400
1649 | 28 FI A | 13000 45H I | 10500 115,400
L651 | 28 FIAI | 13000 45H I | 11500
[ JL653 | 28I | 13.100 45H A | 10500
1655 | 28 FIAI | 13100 45H I | 10500
BERER L 28E A | 12500 45H i | 11000 | 75% [X:15400
L 28E A | 13000 45H i | 10500 | 76% |X:15400
L 28E Al | 13000 45H A | 10500 6% | X:15400
L 28E Al | 13000 45H I | 10500 6%
28E Al | 13000 45H I | 10500 6% 500
28E Al | 13000 45H i | 10500 6% 500
28E A | 12500 45B i | 11000 | 75% 500
28H AT | 12500 45HRi | 11000 | 75% 500




000 %:16.900

400, £:16.900

.400. £:16.900

Y [y
[EBEEI EERQBI~4BEED)
3 5 58 R B 2017/10/31 _~
2/1-4
=4 Ea FHETA T
E 4 s
RRCAE) =47 e | R (HE) 5| _J [A:19.400. H:18.500 ES
[ J B H:19.300 B
[ [ESF [ESY
[ [ESF [ESY
[ [ESF [ESY
[ESF 1A
R ) |
25.300
H:23.800
RRCAB) - | R CAE) 5| _J
EIE 11200
[ J 100, £:12.900
[ J .100. £:12.300
3.800. &:14
TR (B LS | R CAE) 5|
[ H.12.800
[ J .300, £:15.800
(]

300, £:12400

300, £:12.400

JAL



900,  H:12.800

900 £ H:12.600

EA=HER
400, + H:11.800

e ey
FEBE5 EERQAI1B~19RHRES)
WEERE 2017/10/31 -~
- 2/13-19
TR FHITE
=] :23 TET o o
| WalE |
HR CHE) =44 F%) | Rm (AE) R _J K H:18.500 17.300
[ | 7K 300
[ | 7K 300
[ | 7K 300
[ | 7K 900
| 7K -900. H:18.400
G 5|
[y 1900
20200, %:20.100. H:25.300 3,300
200, %:20.100. H:25.300 300
300
300
22,800
[ 0
TR (HE) =ML | FoR CRE) 5|
mLE [
[ T /11400 5300, +
HRCHE -GS | BmCHE) 5[ 100, F H:12.800 900 1 H:11.800
[ 800 800
[ 800 800
[ 800 800
300 T H:12.800 900 T H:11.800
[ 800 11800
[ 800 T H:12.800 800
00, T H:12.800 800
Le% [ J 800
[ "800
[ T1.800 600

.400. + H:11.800

JAL



900,  H:12.800

900 £ H:12.600

EA=HER
400, + H:11.800

e ey
MB35 5EER (2A20~28AHFS)
WEERE 2017/10/31 -~
- 2/20-28
TR FHITE
=] :23 TET o o
| WalE |
HR CHE) =44 F%) | Rm (AE) R _J K H:18.500 17.300
[ | 7K 300
[ | 7K 300
[ | 7K 300
[ | 7K 900
| 7K -900. H:18.400
G 5|
[y 1900
20200, %:20.100. H:25.300 3,300
200, %:20.100. H:25.300 300
300
300
22,800
[ 0
TR (HE) =ML | FoR CRE) 5|
[EITE
[ T /11400 5300, +
HRCHE -GS | BmCHE) 5[ 100 T H:12.800 900 1 H:11.800
[ 800 800
[ 800 800
[ 800 800
300 T H:12.800 900 T H:11.800
[ 800 11800
[ 800 T H:12.800 800
00, T H:12.800 800
Le% [ J 800
[ "800
[ T1.800 600

.400. + H:11.800

JAL



EEEAR

017/10/31 ~

r£5EI5 EBER (2A5~8HBRS)

B

R CRIE) =4k (%)

R CRE) #

pERI(7"

IR IR

pE1F547

2/5

2/6

2/7

2/8

H£BITA

%£455478

155947 A 15417 B]

H£1G5947 A 15447 B]

H£1G947 A 15447 B

| ma |

19.400

ERE

22.000

22.000

22.000

21.100

20.200

15.100

R

00
00
00
00

1
2
2
2
19.200

EAdE | ERE
18,

ERE

ERE

14.100

10.300

9.800

.500

.500

[e]efe ] ]

.500

.500

9.800

.800

ERE

.500

[

R CRE) =FE Wl

RRECRE)#| J

[EITES

[

RRCAB)=ES

AR CRE) #

[e]efe el

O N O

=2

L]

AN RRRRNRN

JAL



EEEAR

017/10/31

MEBE5 1 BERQAN~12BEES)

B

R CRIE) =4k (%)

R CRE) #

pERI(7"

pE1F547

2/11

2/12

H£BITA

%£455478

155947 A 15417 B]

B
[ 15.200

400

400

400

.600

.900

.100

R

ERE

.100

.300

800

.600

.600

[e]efe ] ]

.600

.600

.600

.600

.100

28.600

28.600

28.600

28.600

26.000

4.600

4.600

KR (754) =ik (AR %)

KR (7+) %

W (BE) R

7.900

.500

.000

.600

(B 75 (P &0) =AL IR (37 7 e 2 2 (P ) 3

.500

.800

.500

.500

.200

ALIR (37 F %) A

.200

.400

.600

400

PN P P O P P P

9.600

ERE

JAL



EEEAR

2017/10/31

[R—/IR—%BHEEXR(12A25~31BEES)

=40]

R (FE) =ALIR (BT F %)

R CRE) %

ALIR (BT %) 3

IR CRE) =18k

RRCAE)F [ J

BRI

R CRIE) =4 (%)

RROPE)R | J

ik GRER) R | J

000

9,500

KR (25 =4LIR (B F i)

KR (F751) %

LR (57 B L

KR (BEEE) =4LIR (F7 F i)

KB (BEE) % | JL

FLIR GG %) 4

KR (7F1) =i (R FR)

KB (77 %

bk (BRER) R

RRECRE)=XiE5l

RRPE)R | J

ESEEIES

RECRB) =R

RRERCPE)H | JL5G1 |

JENTES

R CRIE) =8IE8

RRECRE)#

2D

JAL



TR—/—%BIEER(12825~31BEES) AL

EE#EMAA ;. 2017/10/31 ~

) 12/25 12/26 12/27 12/28 12/29 12/30 12/31
=R B4 E%)\M A==t | A=\t | R—rS—5 | A== | A= Rt | R—\—sfl | R/~

R ERE

.000
.800
.800
.400
.500
.900
.900
.100
.500
.000
.900
.000
.400
.600
.400
.700
.700
.500
20.500
20.500
.800
.800
.800
.800
.300
.200
.400
.400
.500
.500
.500
.700
.500
.700
.800
.800
.800
.800
.800
.200
.200
.300
.600
.500
55 9.800
55 12.900
55 9.800
55 -
L 55 .500
L 55 .900
L 55 500
L 55 .500
L 55 9.800
L 55 12.700
55 -
55 9.800
55 14.400
55 14.100
55 11.900
55 .700
55 .700
55 .800
55 .300
55 14.700
55 14.700
55 13.800
55 7.200
55 7.200
55 7.200
55 7.200
55 7.200
55 7.200
55 18.300
55 17,600 17,600

R CRB) =K R CRE) #

HILR

R CRIH) =B RRCAE) % [ J

R

R CRE) =K% R CRIE) %

EE

R CRA)

R CRE) %

|

|
S|S]

AR

|

o]
S|
S|

|

o]
S|
S|

|

o]
S|
S|

|

o]
S|
S|

|

ol
S|
S|

|

ol
S|
S|

|

o]
S|
S|

|

|
S|
S|

KR (73) =E88 K (FFFD %
BRAR S
KR (751 =28 ENACES

|

r
RIRIRZS

65 (R ED) =ALIR (B T | 2 () 34

FLIR B %) 5

WIRGFTFR)=BFR |[fLREFTR)H

BEHRE

IR GFTFR) =S

P P P P PP P P P PP P P PP P P PP P P PP P
=[lElE)

ERE
FLU (3 F %) 3 JL3406 |




R—N—5%BIEER(1A1~8BEED)

SEEHEAR 2017/10/31 ~
/2 1/3 /4 1/5 1/6 1/1 1/8
=40 A—ri—5%@ | 2—1—5%@ | R—1{—%B | 2~ —%B | 2——5%B | R—1{—%B | R~/ {—%H
FR (FE) =L (FFmR)| ®RRCAE) % - [
1 | 8800 8,800
10.100 | 1 | 8,800 8,800
9900 | 1 9,500 9,500
9900 | 1 12,000 13700 | 9500 9,500
10100 | | 11,800 14800 | 9.700 9,900
1 11,800 14800 | 9700 | 9900
1 10,700 12500 | 10200 | 11,700
1 10.100 11,500 | 10200 | 11,700
1 9,700 11,500 | 10700 | 11,700
1 9,700 11,500 | 10700 | 11,700
1 9,700 11,500 | 10700 | 11,700
1 10.200 9800 | 11,100 | 12,400
1 10.200 11,300 | 11,100 | 12,400
1 11,300 11,200 | 11,100 | 12,800
i 11,300 9800 | 12,600 | 12,800
558 i 10,200 00 | 11.400 | 12,100
LR TR 7 558 23,000 00 0 100
558 23,000 100 100
558 23,000 100 100
558 23,000 0_| 13,100
558 23,000 | 13,500
L 558 23,000 1
L 55 23,000 1
L 558 23,000 1
L 558 23,000
558 23,000
558 23,000
558 23,000
558 23,000
558 23,000
558 23,000 00
558 | 22,500 00
R AE) el | RRIE R | J 556 [ 00
558 1 00
558 1 00
558 1 00
558 1 00
558 1 00
558 1 00
558 1 00
558 [
558 [
558 [
558 [

558

[T

FR CRE) =4 ()

RROPE)FE [ J

R CIRER) R |

KB () =AL0R (B F %)

KR (&

KR () 3% | J

AL G F %) 5

AL G F k) 5

KB () =18

KB (FFH R

BE%

KR (7D =3 (RF)

L G 3 |

R (R J

BRI BT

BE%

ALIR G F k)

HERCPHE)=%&5

R (FIE) % |_JL565 |

ESCEIES

24,700
26,400
26,400
26,400
26,400
26,400

R (HE) =R

RROEEE [ J

JENIES

&
S
S

&
S
S

I
S
S

S
S

S
S

500

e
S
S

e
S
S

e
S
S

e
S
S

e
S
S

~
S
3

e
S
S

e
S
S

e
S
S

e
S
S

e
S
S

e
S
S

e
S
S

s
S
3

800

EEEEE
SEEEE

S
S

S
S

=
S

I
S
S

o
S
S

o
S
5

S
5

S
5

S
5

S
5

S
5

=
5

S
5

S
5

S
5

S
5

RRRRBNRRARERRARRARARRARRARARRARRADRARN

I
S
S

o
S
S

E
S
5

S
5

S
5

S
5

S
5

S
5

=
5

i
5

=
5

=
5

=
5

e b e ]

ERRRRE

*m*m**mmm|

©

JAL



R—N—5%BIEER(1A1~8BEED)

EEEAE : 2017/10/31 ~
1/6 1/1
&R ®% A | Ak
BEE
FECHE) =8I R (FE)
11.200
FEES 23,000
23,000
22,000 17.900
R (FE)=HIL R (FE) 10,000 10,300
11.400 12,500
7500 ] 100
HER 23,000 14,000
23,000
16.200
FR (P E) =EfE R (FE) & 11,300
12,700
13,700
S 16,100
R (FE)=K% R (PE) % |_J
PN
HER(CHE)=ERE FR (FE) &
ERE%
AR (PR-EE [ XEEDE [
A | 2
KR () =RE KR () % [ 1
RER [ 20800 ]
| 20,800
| 20,800
KR () =tk KR (B % | J [ 10300
100
[ 10,300
EAITES 13900
| 14000 |
L: | 14,900 10,400
KR () =fe A KR (3 % | J | 10300 10,300
| 11,400 10,300
| 11,400 10,300
11.800 10,300
A% 11,900 10,500
| 11,900 10,500
| 11,900 11,800
11,900 11,600
B B (PR =FLIR (37 T | & o 2 (P ) 3 [_11.900 10,900
11,900
|__9.100
8,500
[8.200
LR () 3 | _21.500
| 22,400
| 25,900
[ 2!
L: | 24
IR FHFR)=ES L% 1
LA (3 F 8) %] JL 3
wBE=E wEE [ J [ 2
2
ez [ 1
[ 2

JAL



[R—I—%BIEER(AI~I5AEED) AL

EE#EMAA ;. 2017/10/31 ~

1/9-15
FH AN
=40] Ea | BAH — EEW
BB B B51%
R (FE) =AU (T F )| RRCABE) % 55 .600 72% |k
55 600 | 72% [k
55 000 | 73%
55 900 | 68% |k
55 300 | 67% |k
55 300 | 67% |k
55 900 | 68%
55 200 | 70% |k
55 100 | 73% [
55 100 | 73% U
55 800 | 69% [U
55 500 | 69%
55 500 | 69%
55 800 | 66% [
55 800 | 66% 2
55 300 | 70% |4
LR (37 F 5% 3 55 .800 66% |7}
900 | 71%
900 | 63% [H
600 | 66% |
100 | 73% [k
100 | 73% [
200 | 70% [%:
200 | 67% |J
700 | 66% |H:
800 | 66% |J
800 | 66% |
800 | 66% |
100 | 68% U
700 | 69% |k
300 | 70% |kt
100 | 73% [k
FRCRE)=k#5 RRCHE)F | 000 76% |7t
500 | 75%
000 | 74% A
ESCEIES 400 73% K
400 | 75% |Jok:
800 79% |k
FR CRE) =R RRPE)F [ J 600 76% |7t
500 | 76% |k 3 I
900 | 75% | H:10.800. %:9.800. A+£:10,000. H:11.900
900 | 73% |HX:10.800. A+:11.000
JCITIED 400 | 74% |4
9.800 78% X
800 | 73% |
800 | 76% |k
FRCRE) =8I ECAC RS 600 73% |K:
000 | 72% |k
000 | 75% |sk:
IS 200 74% |k
600 | 76% |
300 | 72% |k
EEACE:E TN RERCRE) % .400 76% |k
200 | 72% |k
200 7k
000 | 72% [k
HILF 700 7 7}
300 | 74% |k
300 | 74% |k
900 | 75%
R (CRE)=EfE RRCAE)FE [ J 800 66%
700 | 70%
700 | 64% X :
WER 200 | 63% |2+ H:13.500
700 1,600, H:15.000

600 | 64% |/K:13.200, £:12.400. H:15.300
HR(AE)=ES HRCEE) %[ 900 | 68% |A2:11.400. £ H:11.600
400 | 55% [ 600

400 | 55%
200 | 50%
900 | _68%
900 | 68%
900 | 60%
100 | 59%
E&% 400 67%
900 | 60%
900 | 68%
.900 | 68%
500 I
,000 2
,900 7
,900 7
RE(CRE)=FH RERCPE) % 700 68
200 | 57%
000 | _64%
700 | 68%
700 | _68%
400 | 60%
300 | 54%
B 500 65%
400 | 63%
700 | 68%
700 | 68%
800 | 64%
200 | 54%
200 | 54%
B (R Em) = AL IR (37 T | & o 2 () 3 55 400 66%
55 100 | 66%
55 800 | 74%
55 200 | 76%
L 55 200 | 76%
FLIR (BT %) 3 55 200 76%
55 200 | 76%
55 800 | 69%
55 700 | 65%
55 1.100 | 74%




TR—N—%FGIEEXR(NA16~24BEFEN)

EEBEAB 2017/10/31 ~
FH Zl/)\s—z;ﬁg
=40] Ea | BAH
® | mmm | BEP
~ | BI5IE
R (FE) =AU (T F )| RRCABE) % 55 .600 72% |k
55 600 | 72% [k
55 000 | 73% [A:
55 900 | _68% |
55 300 | 67% 2
55 300 | 67%
55 900 | 68%
55 200 | 70% |
55 100 | 73% |
55 100 | 73% |
55 800 | 69% |
55 500 | 69%
55 500 | 69%
55 800 | 66% 2
55 800 | 66% 2
55 300 | 70% |4
LR (37 F 5% 3 55 .800 66% |71
500 | 64% |4
900 | _66% |%:
600 | 66% U
100 | 73% U
100 | 73% [
200 | 70% | &
200 | 67% [dc
700 | 66%
800 | 66% |2
800 | 66% U
800 | 66% |Jc
100 | 68% |
700 | 69% |
300 | 70% |
100 _|_73% |4
FRCRE)=k#5 RRCHE)F | .000 76% |7t
500 | 75%
000 | _74% |
ESCEIES 400 73% |7t
400 | 75% [k
800 79% [k
FR CRE) =R RRPE)F [ J 10.600 76% |K:
10500 | 76% |sK:
800 78% |7
11900 | 73%
JCITIED 11400 | 74% |
9.800 78% |k
800 | 73% [k
800 | 76% [k
FRCRE) =8I ECAC RS .600 73% |K:
000 | 72% [k
000 | 75% [k
IS .200 74% |k
600 | 76% |k
300 | 72% [k
EEACE:E TN RERCRE) % .400 76% |k
200 | 72% [k
200 | 72% |k
000 | 72% [k
HILF 700 7 7}
300 | 74% [k
300 | 74% [k
900 | 75%
R (CRE)=EfE RRCAE)FE [ J .800 66%
700 | 70%
700 | 64% X :
WER 200 | 63% |% 1t H:13.500
700 | _64% 1.600. H:15.000
600 | 64% |JK:13.200. :12.400. H:15.300
RRCHE)=ES R CRE) 5 [_J .900 | 68% 400, £ B:11.600
400 | 55% 600
400 | 55%
200 | 50%
.900 | 68%
.900 | 68%
900 | 60%
100 | 50%
E&% 400 67%
900 | 60%
900 | 68%
900 | 68%
1500 7
000 2
900 7
900 7
RE(CRE)=FH RERCPE) % 700 68
200 | 57%
000 | 64%
700 | 68%
700 | 68%
400 | 60%
300 | 54%
B .500 65%
400 | 63%
700 | 68%
700 | 68%
800 | 64%
200 | 54%
200 | 54%
B (R Em) = AL IR (37 T | & o 2 () 3 55 .400 66%
55 100 | 66%
55 800 | 74%
55 200 | 76%
L 55 200 | 76%
FLIR (BT %) 3 55 ,200 76%
55 200 | 76%
55 ,800 69%
55 ,700 65%
55 1,100 74%

JAL



[R——%BIHEER(1A25~31BERD) JAL
EE#EMAR - 2017/10/31 ~

1/25-31
FH A—N—% T
= @% | mam
® | mmm | B0
A | sl
FECEIERAC =Y E T 5% G0 |12 K
55 600 72% |5k
55 000 73%
55 900 68% |Y
55 300 67% |Y
55 300 67% |Y
55 900 68%
55 200 70% |Y
55 100 73% |Y
55 .100 73% |Y
55 .800 69% | Y
55 500 69%
55 500 69%
55 .800 66% | Y
55 .800 66% | Y
55 .300 70% |7t
EEEEE 55 500 |66 |7
500 64% | &
900 66% | &
600 66% | Y
100 73% Y
100 73% |4
200 70% |
200 67% |Y
700 66%
800 66% | Y
800 66% | Y
800 66% |4
100 68% | Y
700 69% | Y
300 70% |Y
100 73% |7t
TR AR -ZAn | AR (E R | ) o T
500 75%
000 74% |t
TEAE 400 | 73 17
400 75% |7t
800 79% |7t
TRAE BN | AR R | 10,600 | 764 |7
10.500 76% |7t
800 | 78% |Jf
11.900 13%
JEVIE:S 11.400 74%  |K:
9.800 78%  |IK:
800 73% |K:
800 76% |7K:
TRIE) | AR (R 600 |73 Tk
000 72%  |K:
000 75%  [7K:
FEE] 200 T 74w Tk
600 76% |JK:
300 72%  |JK:
FREBE | AR R 400 T Ton Tk
.200 1 K:
.200 K:
000 1 K:
BILFE 700 7 7}
.300 7 K:
.300 7 K:
900 75%  |7K:
TR B | AR R | 500 | 6on |
700 FES
700 64% |7K:13. 3
RS 200 63% | & H:13.500
700 64% 1.600, H:15.000

:600 64% |7K:13.200, +:12.400, H:15.300
.900 68% | K .400, £ H:11.600

RECAR)=LES RROPE)R | J

.400 55% .600
400 55%
200 59%
900 68%
900 68%
900 60%
100 59%
RB% 400 67%
900 60%
900 68%
,900 68%
.500 7"
,000 2
900 7"
900 7"
RRHE-BR | RRCAEE 700 | 68
200 57%
000 64%
700 68%
700 68%
400 60%
300 54%
B 500 65%
400 63%
700 68%
700 68%
800 64%
200 54%
200 54%
B (R ED) =ALIE (B T | 2 () 3 55 400 | 6o%
55 100 66%
55 800 74%
55 200 76%
K 55 200 76%
FLOR B F %) 5_J 55 200 76%

55 ,800 69%
55 ,700 65%
55 1,100 74%




[R—N—%G1EEXR(QA1~4BEES)

@EBAE : 2017/10/31 ~
2/1-4
4 —R—%8
=0 Ea | mAH =
® | mmm | B0
ol LIL
RRHE) AR (FTR)| RR P R 55 200 | 70% 100, £:13.600.
55 200 70% 300, £:13.600,
55 .600 64% 700, £:17.300.
55 .900 63% 300, £:16.300.
55 .200 62% .000, £:16.800.
55 .300 65% 000, £:15.800.
55 700 66% 300, £:14.800.
55 .300 65%
55 .600 12%
55 .600 12%
55 .500 67%
55 700 66%
55 700 66%
55 .600 64%
55 .600 64%
55 .900 68%
BEAE=3E 55 500 | 64%
700 61%
.500 64%
.300 65%
.600 12%
.600 12%
400 70%
.200 59%
.200 59%
.700 58%
.700 58%
.700 58%
.700 58%
.200 67% H:14.700
.800 63% 0
.600 12%
RRGE)-EL | RRCAE R 800 | 714
800 1%
.700 68%
.600 63% :11.000
.000 67% 3.600. £:14.300
[ETES .900 68% :11.000
.000 67% 2,500, #:11.400
.700 68% .800
.000 67% :12.900, £:13.400
.000 67% :13.800, £:14.200
HR(PH) =L HRCHE) | J 1400 67% 600
.400 55% .600
.400 55%
200 59%
.600 66%
.600 66%
.600 66%
.600 66%
IRS% .600 66%
.900 60%
.600 66%
.600 66%
500 67%
.600 66%
.600 66%
.600 66%
6 5 2 (D) =ALIR (37 T | o 2 (P D) 3 400 | 66%
100 62%
300 13%
.800 69%
.800 69%
BEAE=a3E" 800 | 69%
.800 69%
200 66%
.400 63%
700 67%

JAL



[R—/{—%BIEBERCAI1I3~19BERS) AL

EE#EMAA ;. 2017/10/31 ~

2/13-19
F# A=
=40] Ea | BAH
® | mmm | BEP
e EES
RECRE) =L (FF&)| RRCHE) % 55 .200 70% [X:11.100, K-
55 200 | 70% [ 211,100, 7K:
55 700 | 66% |JK:12.900. A:
55 .900 | 63% |kl
55 1200 | _62% |
55 200 | 65% [Jc
55 400 | 67% |H:
55 300 | 65% |H:
55 600 | 72% [k
55 600 | 72% [k
55 500 | 67% [k
55 000
55 000
55 600
55 600
55 .900
LR (37 F 5% 3 55 .500
700
500
300 | 65% |4
600 | _72% |4
600 | 72% [k
400 | 70% _[dc
000 | 65% U
200 | 65% U
700 | 63% U
700 | 63% [Jc
700 | 63% U
100 | 65% [U
200 | 67% | &
300 | 70% [dk
600 | 72% [k
FR CRE) =R HR(PE) R .800 71% |2
800
700
500
600
FELLSE .900
500
9.800
900
800 :14.200. £ H:11.000
HR(PH) =L HRCHE) | J .900 .400. £ H:11.600
400
400
200
.900
.900
.900
100 :
S 400 3:11.600
.900
.900
.900
500
000 600
.900 600
.900 600
(B 2 () = AL W (37 T | & o 2 () 3 400 118, 700
[y 100 £:16.100. H:14.300
J 1300 :13.800. +:14.200. H:13.400
J 800 2,500, £ B:12
JLC .600 | 75% 500, H:12.800
LR (BT ) 3 _J 400 | 75% 300, T H:12.800
[y .800 | 74% 800
J 800 | 690% 300
JL3114 | 55 700 | 65% 400 H:17.400
JL3118 | 55 1700 | 72% 700




[R—/{—%BIBER(2A20~28BERS) AL

EE#EMAA ;. 2017/10/31 ~

o 2/20-28
= @a | mAk ESS 5]
® | mmm | BEP
e EES
RECRE) =L (FF&)| RRCHE) % 55 .200 70% [X:11.100, K-
55 200 | 70% [ 211,100, 7K:
55 700 | 66% |JK:12.900. A:
55 .900 | 63% |kl
55 1200 | _62% |
55 200 | 65% [Jc
55 400 | 67% |H:
55 300 | 65% |H:
55 600 | 72% [k
55 600 | 72% [k
55 500 | 67% [k
55 000
55 000
55 600
55 600
55 .900
LR (37 F 5% 3 55 .500
700
500
300 | 65% |4
600 | _72% |4
600 | 72% [k
400 | 70% _[dc
000 | 65% U
200 | 65% U
700 | 63% U
700 | 63% [Jc
700 | 63% U
100 | 65% [U
200 | 67% | &
300 | 70% [dk
600 | 72% [k
FR CRE) =R HR(PE) R .800 71% |2
800
700
500
600
FELLSE .900
500
9.800
900
800 :14.200. £ H:11.000
HR(PH) =L HRCHE) | J .900 .400. £ H:11.600
400
400
200
.900
.900
.900
100 :
S 400 3:11.600
.900
.900
.900
500
000 600
.900 600
.900 600
(B 2 () = AL W (37 T | & o 2 () 3 400 118, 700
[ 100 £:16.100. H:14.300
J 1300 :13.800. +:14.200. H:13.400
J 800 2,500, T 12,
JLC .600 | 75% 500, H:12.800
LR (BT ) 3 _J 400 | 75% 300, T H:12.800
[ .800 | 74% 800
J 800 | 690% 300
JL3114 | 55 700 | 65% 400 H:17.400
JL3118 | 55 1700 | 72% 700




[R—I—%BEER(2AS~12BEED) AL

EE#EMAA ;. 2017/10/31 ~

) 2/5 2/6 2/1 2/8 2/9 2/10 2/11 2/12
=R B4 E%AM A—ri—5uth | A—rS—silh | RS~ | A5 | A58 [ 25l | R/ | 25l
2] ERE E | BT

RECRE) =L (FF&)| RRCHE) % | 13.800 00
[ [ 18.600 00
[ [18.600 00
[ [ 19.300 00
[ [ 19.000 00
[ [ 19.000 600
[ 100 00
[ 200 00
[ [ 13.800 00
[ [ 12.800 00
[ [ 12700 00
[ [ 12.000 00
[ [ 12.000
[ 700 00
700 00
600 00
LR (37 F 5% 3 600 00
200 00
500 00
[13.200 00
[ 12.800 00
[ 12.800 00
[ 12.800
[ 12.800
[ 12.800
12400
400
FRCRR) = (BH) | RRCHE) R |_J

ik R R | J

KR (751) =i (BRFR) | KBR (7
ik () R
RECAR)=LES RRERCPE) & | JL

E&%

11.600
11,600
11,600
11,600
14,600
15,200 | 1
13,200 | 13,200

10,900 | 10,900

10,600 | 10,600
9,700 | 10,600

11,800 1,800

B (R ED) =ALIE (B T B 2 () 3

LR (57 B L

10,800

55 800 | 12,800 15,900 | 24,900
55 700 14,700 24,900 26,900

55 1:700 11,700 1,700 1,700 11,800 11,800 15,900 24,900




R—I_—% B IEERCAI~8HEES)

EEEAA . 2017/10/31 ~
i) x—sz/g—sﬁ'ﬁ
=40] B2 | BAY —
® | mmEm |20
e EES
R (FE) =AU (T F )| RRCABE) % 55 .700 71% | R7K:11.600. 00, 00

55 700 | 71% | 2koK:11.600. 00, 00, H:10.900
55 900 | 68% | H:13.200. A:14.200. %:16.700. B:11.500
55 900 | 68% 400, :14.400. 800, H:11.500
55 300 | 67% 800, :14.700.
55 300 | 67% 700, A:13.800. %:15. i A1
55 900 | 68% 100, :13.200, %:14.700. E:15.300, H:12.400
55 300 | 690% 400, :12.700. %:14.700. E:13.300. H:13.700
55 100 | 72% 900, £:13.300. 00
55 100 | 72%
55 100 | 67%
55 900 | 68%
55 900 | 68%
55 200 | 64%
55 200 | 64%
55 500 | 690%

LR (37 F 5% 3 55 .100 65%
55 500 | 61%
55 800 | 63%
55 .900 | 65%
55 100 | 72%
55 100 | 72%
55 900 | _70%
55 .600 | 66%
55 700 | 66%
55 300 | 64t
55 300 | 64t
55 300 | 64t
55 .600 | 66%
55 800 | 68% .
55 800 | 70% | 2k7K:11.300.
55 100 | _72% |%:13.800. H:14.200

B (R ) =HLIR (37 T ) & i 2 (P ) 3 _J 55 400 67% :18.200, +:18.700

55 100 | 68% |%+:16.100, H:14.300
55 300 | 74%
55 .800 | 76%
55 .800 | 76%

LR (37 F 5% 5 55 .500 76%
55 .800 | 76%
55 500 | 70% Eo14.
55 700 | 67% |AK:15.100.
55 1700 | 74% |%:13.200. +

JAL



[R——5%B 1 EERCBAI~I5AEBED)

EEEMAE . 2017/10/31 ~

R e
= ®2 | BAM —
® | &mm |50
" | mai=

TR RE) ARG TR Fx (R 5 700 | 71% [JOKAT600: 50
55 100 1% 7K:11.600. 00, 00, B 00
55 .900 68% :13.200, A:14.200, #:16.700, . B 500
55 .900 68% ,400, A:14.400. .800, H:11.500
55 .300 67% .800, A:14.700.
55 .300 67% 700, A:13.800. X . HAR
55 .900 68% 100, A:13.200. £:14.700, 1:15.300, H:12.400
55 .300 69% 400, K:12.700. £:14.700, £:13.300. H:13.700
55 .100 12% 900, 1:13.300, 00
55 .100 12%
55 .100 67%
55 .900 68%
55 .900 68%
55 .200 64%
55 .200 64%
55 .500 69%

EEAEEEE" 55 100 | 654

55 .500 61%
55 .800 63%
55 .900 65%
55 .100 12%
55 .100 12%
55 900 70%
55 .600 66%
55 .700 66%
55 .300 64%
55 .300 64%
55 .300 64%
55 .600 66%
55 .800 68% .
55 .800 70% 7K:11.300,
55 .100 12% :13.800, H:14.200

A E N ACE = P AT I 55 400 | 67% [%:18.200. £:18.700
55 100 68% 1+:16.100. H:14.300
55 .300 74%
55 .800 76%
55 .800 76%

EEAEEEE" 55 500 | 764

55 .800 76%
55 .500 70% f:14.
55 .700 67% | AK:15.100,
55 1.700 74% |£:13.200, +

JAL



[R—/{—%BIEBERGAI16~2BERS) AL

EE#EMAA ;. 2017/10/31 ~

™ ;/1_6’ \z&s/zz
=40] B2 | BAY —
® | mmEm |20
~ | B5IE

R (FE) =AU (T F )| RRCABE) % 55 500 69% |A:
55 500 | 69% [AH:
55 200 | 67% U
55 400 | 66% U
55 800 | 65% U
55 800 | 65% U
55 100 | 67% U
55 400 | 69%
55 800 | 70%
55 800 | 70%
55 .900 | 65%
55 100 | 67%
55 100 | 67% [
55 800 | 63% [AH:
55 800 | 63% |H:
55 300 | 67% |H:

LR (37 F 5% 3 55 100 65% :

55 400 | 59% |A:
55 700 | 61% |-
55 800 | 63% |AH:
55 800 | 70% |AH:
55 800 | 70% [AH: r 1
55 900 | 70% | 4k:12.300. A:12.800. %:16.900. %:14.200. H:15.800
55 600 | 66% [2:14.100. 7 200, £:14.300. H:15.900
55 700 | 66% [ 2:14.100. 700, £:14.300. H:15.900
55 300 | 64% U
55 300 | 64% U
55 300 | 64% U
55 600 | 66% U
55 100 | 67% U
55 800 | 70% [d
55 800 | 70% |A:

B R (9 E) =ALIR (37 T ) 2 B2 (P ) 39 JL3103 | 55 400 67% |K:
55 100 | 68% |k
55 100 | _70% [k
55 700 | 74%
55 400 | 74%

LR (37 F 5% 5 55 .500 76%

55 600 | 74% [k
55 500 | 70% [k )
55 700 | 67% |AK:17.700, %:15.400. E:15.
55 500 | 72% |K:13.900, £:13.200. E:14.400, H:14.700




T2R—/—%BIEERGA2IBERES) AL

EE#EMAA ;. 2017/10/31 ~

27 3/21

=] Ea | AN FiEE
B mE

(6 2 (P ) =AU (91 A & 5 B (P &) 34 _JL3103 | 556 A | 17.200
55 B Al .900

FEED .600

55 B Bl .000

FEED .000

55 B Bl .000

55 B Bl .000

FEED .400

55 B Bl 500

18 | 55E i .900




[R—/—%BIBER(BA23~24BHERS) AL

EE#EMAA ;. 2017/10/31 ~

27 3/23 3/24

=] BE | AR [ EE xR

B mE

RRHE) AR (FTR)| RR P R 55 500
55 .500

55 .400

55 .700

55 400

55 .400

55 700

55 700

55 .300

55 .300

55 700

55 .700

55 .700

55 .400

55 .400

55 .100

BEAE=3E 55 800
55 .000

55 .400

55 .800

55 .500

55 .500

55 .900

55 .900

55 .900

55 200

55 .500

55 7.500

55 7.500

55 .200

55 .400

55 .400

(B & (P Eh) = AL (B T 28| & o 2 (&) 34 _JL3103 | 55 000
55 .900

55 .500

55 .700

55 .700

BEAE=a3E 55 700

55 .700
55 .100
55 8.300
55 5.600




S5 %BIEER(A14~15B8FES)

EE#EMAA ;. 2017/10/31 ~

E 1/14-15 -
] w8 | WA —— = PR 5
® | mmm | ERT s
B (PE)=k@ms | RmCHE) % | J 900 | 76% [7K:11.100. £:12.000, £:13.400. H:12.300
400 | 75% |H:12.000, 7K:11.600, £:12.500, £:14.300, H:13.200
400 | 75% |/K:12.300, £ H:12.900, £:12.200
EZ TS 500|754 [B:
500 | 75% |H 700
.700 79% |K: .800. H:11.300
T CRE) =18l Fm CHE) 5 |_JL! 10.500 | 76% |7K: 900, 300
10.400 7% |5K: 3.200. £:13.600. H:10.900
.900 78% :10.; 700, 7K:10.400, £:10.800, H:11.300
11.300 74% X K1:10.500
BENTES 10.800 76% :
700 78%
.800 76%
.700 76% |K:
RECAE-BE | R CHED R | L 700 |67 & 00
7 .200 1% |7K: N 00, H:12.300
7 .100 66% | :11.800, H:13.600
BHAESE 7 .800 64% | 7K:
7 .300 65% |7K:
7 .000 66%
B (8 AU T BB E (A 3 7 700 | 674 %17,
7 .400 68% T 00
7 .700 74% B .900
7 .100 76% .100
7 600 7%
e 7 100 768
7 .100 76%
7 .800 72%
7 .000 67% | K:
7 0.800 74% |$:12500, £




TS %BIEER(IA16~24BBES)

EEBEAB 2017/10/31 ~
1/16-24
FH =57
] e | mAk PR 5
® | mmm | BEP
~ | BI5IE
RECRE) =L (FF&)| RRCHE) % 10.100 73%
10.100 | 73%
9.500 75%
400 | 70%
800 | 69%
500 | 69%
.000
.000
9.600
9.600
1000
300 | 70%
300 | 70%
100 | 68%
100 | 68%
7 000 | 73%
#L1% (B F %) 5L 7 .800 69%
7 300 | 67%
7 800 | 69%
7 000 | 68%
7 9.600 74%
7 9.600 74%
7 500 | 72%
7 400 | 70%
7 400 | 67%
7 000 | 68%
7 000 | 68%
7 .000 | 68%
7 600 | 69%
7 800 | 71%
7 1400 | 72%
7 9.400 75%
FRCRE) =/ (H) | "R (FHE)F |_JL 7 .200 73%
7 000 | 69%
7 000 | 69%
7 000 | 69%
7 800 | 72%
7 800 | 72% 500, H:12.200
7 500 | 79%
7 500
7 500
7 500 £:9.100
7 500 £:13.300
7 500 £:13.300
TR GRER) F | JL 7 .500
7 500
7 500
7 600 9
7 100 | 76% |A:
L 7 400 | 73% |k 500
L 7 400 | 73% |k 500
L 7 400 | 73% |k 500
L 7 000 | 69% |sk: 400 B:15.100
L 7 000 | 69% |sk: 00. B:15.100
[ JL920 | 7 800 | 72% |k 500
L922 | 7 600 81% [B:12.
KR (1 59) =048 (FRE) | KBR (F7T) 3¢ |_JL2081 | 7 15000 | 61% [/K:16.200. 2 £:17.300. H:12.900
L2087 | 7 500 78%
S8 (ARER) 3¢ |_JL2084 | 7 500 78%
2088 | 7 .000 | 61% |7K:16.200. H:17.300
BRCRE)=k#&5] FR(CRE) % |_JL565 | 7 .100 78% |A:
[ JLs67 | 7 600 | 77% |A:
569 | 7 400 | 75%
Es kS 562 | 7 500 | 75%
[ JL564 | 7 500 | 77
566 | 7 600 8
RRE(EE) =R BROCPE)F [ _JLs51 |7 10.000 7
[ JL553 | 7 10200 | 7
[ JL555 | 7 500 79% [
557 | 7 11.300 | 74%
FOIES 552 | 7 10.800 | 76% |
[ JL554 | 7 9.300 79%
[ JL556 | 7 10.800 | 76%
L558 | 7 9,800 78%
RRCRE) =8I RERCPE) % L! 7 9.900 17 :
L 7 400 | 74% |
L 7 200 | 77% [k
IS L 7 ,200 77%_|7k:
L 7 100 | 77% |k
L 7 700 | 75% |k
RECRR)=HIE RERCPE) % L. 7 9,100 79% K
7 200 | 74% |k
7 200 | 74% |k
7 400 | 74% [k
HILF 7 100 72% _|K:
7 600 | 75% |k
7 600 | 75% |k
7 9,400 78% |k
RR(CRE)=HfE RRCPE) $|_JL 7 .700 67% |&:
7 200 | 71%
7 100 | 66%
RS 7 700 | 64% :
7 200 | 65% 2,300, £:11.100. H:14,500
7 ,000 | 66% 2,500, 11,800, H:14,500
B (R Es) = AL W (37 T | & o 2 () 3 7 700 67%
7 400 | 68%
7 500 | 75% 00, H:12,700
7 ,900 76% ,000
7 600 77% ,000
LI (T ) 34_J 7 ,900 76% ,000
7 ,900 76% ,000
7 11,800 | 72% 600
7 14,000 | 67% |4 700 H:16,600
7 10800 | 74% |%: ,900

JAL



TS5 RBIEER(1A25~31BEES)

EEBEAB 2017/10/31 ~
1/25-31
FH =r7
] e | mAk PR 5
® | mmm | BEP
~ | BI5IE
RECRE) =L (FF&)| RRCHE) % 10.100 73%
10.100 | 73%
9.500 75%
400 | 70%
800 | 69%
500 | 69%
.000
.000
9.600
9.600
1000
300 | 70%
300 | 70%
100 | 68%
100 | 68%
7 000 | 73%
#L1% (B F %) 5L 7 .800 69%
7 300 | 67%
7 800 | 69%
7 000 | 68%
7 9.600 74%
7 9.600 74%
7 500 | 72%
7 400 | 70%
7 400 | 67%
7 000 | 68%
7 000 | 68%
7 .000 | 68%
7 600 | 69%
7 800 | 71%
7 1400 | 72%
7 9.400 75%
FRCRE) =/ (H) | "R (FHE)F |_JL 7 .200 73%
7 000 | 69%
7 000 | 69%
7 000 | 69%
7 800 | 72%
7 800 | 72% 500, H:12.200
7 500 | 79%
7 500
7 500
7 500
7 500
7 500 £:13.300
TR GRER) F | JL 7 .500
7 500
7 500
7 600 9
7 100 | 76% |A:
L 7 400 | 73% |k 500
L 7 400 | 73% |k 500
L 7 400 | 73% |k 500
L 7 000 | 69% |sk: 400 B:15.100
L 7 000 | 69% |sk: 00. B:15.100
[ JL920 | 7 800 | 72% |k 500
L922 | 7 600 81% [B:12.
KR (1 59) =048 (FRE) | KBR (F7T) 3¢ |_JL2081 | 7 15000 | 61% [/K:16.200. 2 £:17.300. H:12.900
L2087 | 7 500 78%
S8 (ARER) 3¢ |_JL2084 | 7 500 78%
2088 | 7 .000 | 61% |7K:16.200. H:17.300
BRCRE)=k#&5] FR(CRE) % |_JL565 | 7 .100 78% |A:
[ JLs67 | 7 600 | 77% |A:
569 | 7 400 | 75%
Es kS 562 | 7 500 | 75%
[ JL564 | 7 500 | 77
566 | 7 600 8
RRE(EE) =R BROCPE)F [ _JLs51 |7 10.000 7
[ JL553 | 7 10200 | 7
[ JL555 | 7 500 79% [
557 | 7 11.300 | 74%
FOIES 552 | 7 10.800 | 76% |
[ JL554 | 7 9.300 79%
[ JL556 | 7 10.800 | 76%
L558 | 7 9,800 78%
RRCRE) =8I RERCPE) % L! 7 9.900 17 :
L 7 400 | 74% |
L 7 200 | 77% [k
IS L 7 ,200 77%_|7k:
L 7 100 | 77% |k
L 7 700 | 75% |k
RECRR)=HIE RERCPE) % L. 7 9,100 79% K
7 200 | 74% |k
7 200 | 74% |k
7 400 | 74% [k
HILF 7 100 72% _|K:
7 600 | 75% |k
7 600 | 75% |k
7 9,400 78% |k
RR(CRE)=HfE RRCPE) $|_JL 7 .300 68% | &
7 1200 | 71% |k 1400, £:11,900, B:12,300
7 100 | 66% |1 4,200, £:11,800, H:13,600
RS 7 700 | 64% |&tA:
7 200 | 65% [%:12,300, +:11,100, H:14,500
7 ,000 | 66% 2,500, 11,800, H:14,500
B (R Es) = AL W (37 T | & o 2 () 3 7 700 67%
7 400 | 68%
7 500 | 75%
7 ,900 76%
7 600 77%
FLIR (BT %) 3 7 .900 76%
7 ,900 76%
7 11,800 | 72% 600
7 14,000 | 67% |4 700 H:16,600
7 10800 | 74% |%: ,900

JAL



TSR FIERER(A1~4BERD)

EEBEAB 2017/10/31 ~
™ 2/1-4
=40} B4 | mam IIESEF
® | mmm | BEP
~ | BI5IE
RECRE) =L (FF&)| RRCHE) % .600 00,
600 00,
900 00,
400 00,
.000 700,
800 300,
600 00,
500 00,
100 00,
100 00,
600 00
.800 00,
800 00,
600 00,
600 i 00,
7 500 800, £:10.000.
#L1% (B F %) 5L 7 .300 .600, H:10.100
7 .900 600, H:11.200
7 300 300, H:11.100
7 600 100
7 100 400 £:12.000,
7 100 400, £:12.000.
7 .900 600, £:12.200.
7 400 | 62% |A:12.500, £:12.200
7 400 | 62% |A:12.700, £:12.200
7 900 | 60% |A:13.200. £:11.900
7 900 | 60% | A:12.500. £:11.900
7 1900 | 60% | A:13.200. £:11.900
7 1900 | 60% | A:12,600. £:10.600
7 800 | 71% &
7 800 | 71% |&:
7 100 | 73% |&-
BE=ALIR (FT TR EEEES 7 -100
7 9.900
LR (37 F 5% 3 7 9.900
7 100
RRCAB)=%i@% | RmCAE) 5 [_JL 7 000 #:13.900, £:15.300, H:13.200
7 000 :12.900, £:15.300. H:14.200
7 .900 | 70% | A:12.300. £:13.000
ESTIES 7 000 | 72% | A:12.700
7 000
7 .900
FR CRE) =Rl HR(PE)F [ JL 7 .000
7 100
7 .300
7 300
JCITIES 7 700
7 100
7 800
7 800
FRCRE) =8I RERCRE) % 7 .400
7 500
7 1800
IS 7 700
7 500
7 200
RR(HE)=HL RERCRE) % 7 .900
7 200
7 200
7 .000
HILF 7 .300
7 1200
7 1200
7 1400
R (CRE)=EfE RERCPE) $|_JL 7 -300
7 600
7 800
B 7 500 | 62% 700
7 1200 | 65% 800 £:12.000. H:15.100
7 500 4 .
(6 2 () = AL W (37 T | & o 2 (P ) 34 7 .700 7 :17.300, +:17.800
7 300 3% | A:13.400. H:13.600
7 1100 i
7 500 | 70%
7 500 | 70%
FLIR (BT %) 3 7 9,700 17%
7 500 | 70% |4
7 500 | 68% [A
7 700 | 65% |A:14,400. H:16,600
7 400 68% [A:10.600, £:12.300

JAL



TS %BIEERCAI~19BARES)

EEBEAB 2017/10/31 ~
2/13-19
FH =77
4] B4 | BAS TSR
BB
RECRE) =L (FF&)| RRCHE) %
7
#L1% (B F %) 5L ;
7
7 ok:
7 ok:
7 ok:
7
7 P&
7 ) P&
7 200 | 65% |k 0. % H:14.900. £:11.900
7 500 | 67% |& .
7 200 | 65% |k 300, % H:14.900, £:11.900
7 600 | 66% | X 00
7 800 | 7 pY
7 800 | 7 J
7 100 | 7 7k:10.500. :
BE=ALIR (FT TR EEEES 7 .100
7 9.900
LR (37 F 5% 3 7 9.900
7 100
R CHE)=Z#H5 | R CRE) % | JU 7 000 113.900. £:15.300. H:13.200
7 000 :13.000, £:12.900. £:15.300. H:14.200
7 300 3900, £:13.000
s ES 7 700 |72 £ 5:13.000
7 700 | 75% £ H:12.000
7 400 | 77% |2+£:10.900. B:
RR (FA) =1 R (PE) & [_JL 7 000 | 73% |2:12.400. +:13.200
7 800 | 76% |2 £:14.100.
7 300 | 77 %:10.100.
7 300 | 74% |HX:11.100. £ H:12.300
JENIES 7 700 | 74% [£:12.000
7 100 |77 800
7 800 | 73 300 £:11.000. H:14.100
7 1800 | 76% 1300 £:10.000. 00
R (HE) =8I R CHE) % 7 400 | 72% 300 £:16.200
7 600 | 71
7 500 |74
FEES 7 700 | 73
7 200 | 74
7 1200 | 72%
RR(HE)=HL RERCRE) % 7 .900 75%
7 1200 | 72%
7 1200 | 72%
7 .000 | 70%
HILF 7 .300 69
7 200 | 7
7 200 | 7
7 400 | 7
R (CRE)=EfE RERCPE) $|_JL 7 -600 6
7 800 | 69
7 800 | 64% |sk:13. -
B 7 200 | 63% £ H:13.500
7 300 | 65% 2,800, +:12,000. H:15.100
7 500 | 64% |7K:13.100. H:15.200
(6 2 () = AL W (37 T | & o 2 (P ) 34 7 .700 67% :17.300, +:17.800
7 400 | 68% |2+:15300.
7 100 | 74% 3.600. £:13.900.
7 ,900 76% [%:12,200, £
7 600 77% [ J7K:9,900, £ 0.
LR (3T o) 34_J 7 700 7 £:11,400, £:12,500,
7 700 7 JK:10,500
7 11,800 | 7 £+:13500, H:14,600
7! 14,000 6 7K:14,400, £ 1:14,700, B:16.600
7 10,600 | 75% [JK:11,400, %:12,300, £ H:13,400

JAL



TS5 RB I EER(2A20~28AEES)

EEBEAB 2017/10/31 ~
™ 2/20-28
(=45 B2 | A IS RE
BB
RECRE) =L (FF&)| RRCHE) %
7
#L1% (B F %) 5L ;
7
7 ok:
7 ok:
7 ok:
7
7 P&
7 ) P&
7 200 | 65% |k 0. % H:14.900. £:11.900
7 500 | 67% [& .
7 200 | 65% |k 300, % H:14.900, £:11.900
7 600 | 66% | X 00
7 800 | 7 pY
7 800 | 7 J
7 100 | 7 7k:10.500. &:
BE=ALIR (FT TR EEEES 7 .100
7 9.900
LR (37 F 5% 3 7 9.900
7 100
R CHE)=Z#H5 | R CRE) % | JU 7 000 113.900. £:15.300. H:13.200
7 000 :13.000, £:12.900. £:15.300. H:14.200
7 300 3900, £:13.000
s ES 7 700 |72 £ 5:13.000
7 700 | 75% £ H:12.000
7 400 | 77% |2+£:10.900. B:
IR CRE) =18 Il HR CRE) &% [_JL 7 000 | 73% |2:12.400. +:13.200
7 800 | 76% |2 £:14.100.
7 300 | 77 £:10.100,
7 300 | 74% |HX:11.100. £ H:12.300
JENIES 7 700 |74 1000
7 100 |77 800
7 800 | 73 300 £:11.000. H:14.100
7 1800 | 76%
FRCRE) =8I RERCRE) % 7 400 72%
7 600 | 71
7 500 |74
FEES 7 700 | 73
7 200 | 74
7 1200 | 72%
RR(HE)=HL RERCRE) % 7 .900 75%
7 1200 | 72%
7 1200 | 72%
7 .000 | 70%
HILF 7 .300 69
7 200 | 7
7 200 | 7
7 400 | 7
R (CRE)=EfE RERCPE) $|_JL 7 -600 6
7 800 | 69
7 800 | 64% |sk:13. -
B 7 200 | 63% £ H:13.500
7 300 | 65% 2,800, +:12,000. H:15.100
7 500 | 64% |7K:13.100. H:15.200
(6 2 () = AL W (37 T | & o 2 (P ) 34 7 .700 67% :17.300, +:17.800
7 400 | 68% |2+:15300.
7 100 | 74% 3,600, £:13.900.
7 ,900 76% [%:12,200, £
7 600 77% [ J7K:9,900, £ 0.
LR (3T o) 34_J 7 700 7 £:11,400, £:12,500,
7 700 7 JK:10,500
7 11,800 | 7 £+:13500, H:14,600
7! 14,000 6 7K:14,400, £ 1:14,700, B:16.600
7 10,600 | 75% [JK:11,400, %:12,300, £ H:13,400

JAL



TS RFIEER (A~ 12BEES) JAL

EE#EMAA ;. 2017/10/31 ~

g N T
B B | mAM —= = e
BB ERE EEe | ERE

.600
.600
.100
.400
.000
.000
.600
.200
.100
.100
.600
.800
.800
.600
.600
.500
.300
.900
.300
.600
.100
.100
.900
.500
.700
.200
.500
.200
.600
.800
.800
.100
.500
700
7.700
7.700

0!
S|
S|

R (FE) =AU (T F )| RRCABE) %

0!
S|
S|

e
S|
S|

o
S|
S|

S|
S|
S|

S|
S|
S|

|
=
S|

|
=
S|

o
S|
S|

o
S|
S|

=
S|

oo
&
S|

oo
S|
S|

£
=
S|

3
S|
S|

|
S|
S|

|
S|
S|

FLIR B F %) 5 JL

ol
S|
S|

|
S|
S|

|
=
S|

|

SR CRIE) =ik (BH) | R (FE) 5 [ JL

b (ARER) R | JL

KR (7F4) =iebi (BF) | KB (7 5 [ JL2081

oAl (AN E) 5 | L2084

1BRE=ALIR (k) EELEES L35

FLIR B F %) $§_JL35

RRCPE)=&injl RRCPE)F |_JL565

ZikplF | JL562

FRCRE) =R RFECPE) R | JLES]

TN | _Jiss2

R CRIE) =8IE& RRERCPE)H | JU

S L

RECRR)=HIE RRERCPE) & | JU

R CRIR) =B RRERCPE)H | JU

S

B 5 (R ER) =ALIE (B T B 2 () 3

FLIR (3 F %) 54

<l s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s
N
o |
3|
S|




LSRG IERER(SA1~8BERD)

EEEAA . 2017/10/31 ~
3/1-8
FH =77
] e | mAk DAETEE
BB B
RECRE) =L (FF&)| RRCHE) % .:gg
400
400
800
500
100
800
500
500
100
300
300
200
200
7 .000
#L1% (B F %) 5L 7 .400
7 700
7 100
7 200
7 500 :
7 500 13,
7 400 | 71% | #k7K:10.900, %:14.100. £:12.800. H:14.800
7 100 7% | XOK:12.700. %:15.900. E:12.800. H:15.100
7 .200 7% | XOK:12.700. 00,
7 100 7% | %:13.800. £:12.400.
7 100 7% | %:15.800. £:12.400.
7 800 | 65% | 2ksK:13.300.
7 100 | 67% | JksK:12.600.
7 00 | 7 A:11.300.
7 300 | 72% |JK:10.800,
7 500 | 74% | %:12.500. H:13.500
BE=ALIR (FT TR EEEES 7 .100
7 9.900
LR (BT F %) F_JL: 7 9.900
7 100 | 8
R CHE) =3Ik FRRE) R J 7 800 | 72% |%:17.200. :16.200
J 7 600 | 73% | A:13.500, £:17.000. £:16.200, H:12.100
J 7 200 | 76% +12.800. 00
T J 7 800 | 74% 900, £:12.400
J 7 200 | 76% 200, £:12.500. H:12.100
J 7 700 | _72% i : 00
R CHE) =%k R (AE) % |_J 7 000 | 76% 300, E:15.000. 00
JL575 | 7 300 | 73% 13.400. £:12.400
77 |7 300 | 73% 13.400
79 |7 .400 | 70% 800,
HILF 70 [ 7! 400 70% 700,
72 |7 400 | 75% 400,
74 | 7 400 | 75% 400,
7 700 | _74% 500,
RA CHE)=miE R CRE) 5 [_JL 7 700 | 66% 500,
7 300 | 70% 100,
7 500 | 64% 000, H:15.400
EE) 7 100 | 63% 100
7 700 | 66% .400_ F:12.200. B:15.100
7 100 | 65% 700, H:16.000
(6 2 () =AL W (37 7 | & 5 2 (P ) 34 7 .700 69% :17.300, +:17.800
7 400 | 70% | % +:15.300. H:13.600
7 100 | 75%
7 500 | 76%
7 500 | 76%
LR (37 5%) 3 7 .700 78%
7 500 | 76%
7 2900 | 71%
7 4.000 | 68% 700, H:16.600
7 1.400 | 74% 100

JAL



LS %FIEER(BAI~I5AEBESD)

EEEAA . 2017/10/31 ~
3/9-15
FH =57
] e | mAk DAETEE
BB B
RECRE) =L (FF&)| RRCHE) % .}gg
400
400
800
500
100
800
500
500
100
300
300
200
200
7 .000
#L1% (B F %) 5L 7 .400
7 700
7 100
7 200
7 500
7 500 13,
7 400 | 71% | #k7K:10.900, %:14.100. £:12.800. H:14.800
7 100 7% | XOK:12.700. %:15.900. E:12.800. H:15.100
7 .200 7% | XOK:12.700. 00,
7 100 7% | %:13.800. £:12.400.
7 100 7% | %:15.800. £:12.400.
7 800 | 65% | 2ksK:13.300.
7 100 | 67% | JksK:12.600.
7 00 | 7 A:11.300.
7 300 | 72% |JK:10.800,
7 500 | 74% | %:12.500. H:13.500
BE=ALIR (FT TR EEEES 7 .100
7 9.900
LR (BT F %) F_JL: 7 9.900
7 100 | 8
R (RE)=HR FRRE) R J 7 800 | 72% |%:17.200. :16.200
J 7 600 | 73% | A:13.500, £:17.000. £:16.200, H:12.100
J 7 200 | 76% +12.800. 00
EEE] J 7 800 | 74% 900, £:12.400
J 7 200 | 76% 200, £:12.500. H:12.100
J 7 700 | _72% i : 00
EEEET R (AE) % |_J 7 000 | 76% 300, E:15.000. 00
JL575 | 7 300 | 73% 13.400. £:12.400
77 |7 300 | 73%
79 |7 .400 | 70%
HILF 70 | 7 .400 70%
72 |7 400 | 75%
74 | 7 400 | 75%
7 700 | _74%
RA CHE)=miE R CRE) 5 [_JL 7 700 | 66% £:15.
7 300 | 70% 100, £:13.000
7 500 | 64% 000, H:15.400
EE) 7 100 | 63% 100
7 200 | 65% .400_ F:12.200. B:15.100
7 100 | 65% 700, H:16.000
(6 2 () =AL W (37 7 | & 5 2 (P ) 34 7 .700 69% :17.300, +:17.800
7 400 | 70% | % +:15.300. H:13.600
7 100 | 75%
7 500 | 76%
7 500 | 76%
LR (37 5%) 3 7 .700 78%
7 500 | 76%
7 2900 | 71%
7 4.000 | 68% 700, H:16.600
7 1.400 | 74% 100

JAL



LSRG IEER (BA16~22B1EFE)

EEMMBA . 2017/10/31 ~
E 3/16-20,3/22
0 @2 | mAM LSRR
® | &mm |50
" | misiE
TR CRE) A0 (TR BoR CRE) 5 900 | 108 [
900 70% B
700 68% [N
.900 68% | A
.300 67% [N
.300 67% A X
.100 67% 500, H:11.900
.800 70% .200, 1:13.100, H:13.200
200 12% .200
.200 12%
.100 67%
400 69% [X
.400 69% 5
100 65% A:
100 65% B:
7 .000 70% A:
FLIE (37 ) 3_JL500 | 7 400 | 66% |dc
7 .600 61% A:
7 .900 63% A:
7 100 65% A:
7 .200 12% A:
7 .200 12% A:
7 400 1% :
7 .600 66% A:
7 .600 66% A:
7 .000 65% A:
7 .000 65% A:
7 .800 65% |[X
7 .100 67% [X
7 .100 70% [K 900, H:13.800
7 .300 1 K .600, £:11.200, H:13.800
7 .200 7 214, 700
RE-ALR (TR TR 7 100
7 9.900
FLWR (37 ) 3_JL3510 | 7 9.900
7 .100 8
TR CRE)-9I% | R CRE % | Jiodl |7 500 |73 16,000
JL! 7 600 7 .000, 1:14.900, H:12,100
JL! 7 .200 7 800
SRR S JL! 7 .300 7 .600
JL! 7 .800 7
JL! 7 .000 72
TR CRE)-®E | R CRE) % | J673 [ 7 700 | 76%
J 7 400 13%
1 400 13%
7 .400 70%
HILF 7 .400 70%
7 .500 75%
7 .500 75%
7 .900 74%
BEE (AL T B BB B (P 8D 3 7 700 |_60%
Iy 7 400 | 70%
J 7 .100 13%
J 7 .100 75%
J 7 .800 76%
FLWR (B 28 3 7 9900 | 78%
[ J 7 0.800 76% .600. H:13.300
J 7 2,900 1%
J 7 4.000 68% K. 00, H: 00
J 7 1.700 74% L 212,500, H:14.200
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Fi (o
=40] Ea | BAH =
BB B
RECRE) =L (3 F&)| R (FE) 5 [_JL501 .900
[ JL503 .900
[ JL505 300
[ JL507 300
[ JL509 700
JL 500
JL 100
JL 400
JL 200
L .200
[ JL52 .900
[ JL523 200
[ JL525 200
[ JL527 100
[ JL529 100
JL531 | 7 000
#L1% (37 F %) $_JL500 | 7 .200
["JLs02 | 7 600
[_JL504 | 7 .900
[_JL506 | 7 100
[ JLs08 | 7 .200
JL 7 .200
JL 7 800
JL 7 600
JL 7 600
L 7 000
[ JL520 | 7 000
[ 522 | 7 .200
[ JL524 | 7 500
[ JL526 | 7 100
[ JL528 | 7 700
L530 | 7 .200
BE=ALIR (FT TR B | JL35 7 .100
L3515 [ 7 9.900
LR (37 F %) 5_JL35 7 9.900
512 | 7 100
R CRE)=3Igk R CHE) 5 [_JL 7 200
JL 7 300
JL 7 200
T JL 7 300
JL 7 .800
JL 7 000
R CHE) =%k R CFE) 5 [_JL 7 .600
JL575 | 7 300
L577 | 7 300
L579 |7 300
HILF L570 | 7 400
72 |7 500
L574 | 7 500
L576 | 7 .900
B (PR E) =FLIR (37 T ) & i 2 (P ) 39 JL3103 | 7 .400
[CuLsi05 [ 7 100
JL3107 | 7 400
JL3115 | 7 800
NTETEA 800
FLIL (37 F &) 39_JL3100 | 7 700
[CuL3106 | 7 800
JL3110 | 7 600
JL3114 | 7 700
JL3118 | 7 700




TILNSEBIBEER (3A23~240#EFRD) JAL

EE#EMAA ;. 2017/10/31 ~

Pt |
0 e | mAm =

.400
.000
.600
.200
.300
.900
.200
.200
.600
.600
.200
.200
.200
.900
7.900
.300
.000
.200
.600
.100
.800
.800
.000
.100
.100
.900
.600
.600
.600
.600
.600
.600
.100

R (FE) =AU (T F )| RRCABE) %

FLIR B F %) 5 JL

BE=ILIRFTFR) [EEES

FLIR B F2%) :_JL

.100
.500
.300
.400
.000
.200
.600
.400
.200
.200
.900
.900
.300
.400
.700
.800
.000
.300
.500
.500
.400
.400
.300
400
5.300

SR CRE) =8I RECPE) R

] ]

ElEES

e |e e el

IR CRB)=#HIK RRECPE)F | JU

(B2 2 (P D) =AL IR (37 7 | & 2 (P ) 34

FLIR (B F %) 5
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